ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 12 - ENGLISH CORE
Confidence Examination - 1 (2020-21)
Time Allowed: 3 hours Maximum Marks: 80

General Instructions:

1. This paper is divided into two parts: A and B. All questions are compulsory.

2. Separate instructions are given with each section and question, wherever necessary. Read these
instructions very carefully and follow them.

3. Do not exceed the prescribed word limit while answering the questions.

Section A

1. Read the passage: [10]
Education, no doubt, aims at bringing an all-round development and growth of ‘head’ and
‘hand’. As the years are rolling by, new educationists are propounding new principles and
advocating for new systems. But to our great dismay, the latest systems of education have not
yielded the desired results. Only a meagre percentage of students who devote themselves to
the cause of education is available. But the majority of the students become either ‘drop-outs’
or ‘truants’. They are reluctant to attend their classes. Their growth dwindles on account of
some reasons or the other. Out educational authorities should pay their heed to the start
reality of the majority of students who are put into the reverse gear and who cannot earn
their bread and butter. They become parasites on their aged parents.
They learn languages but they can neither speak nor write correct compositions. Their bright
childish imagination is utterly discouraged. Neither the feeling of social service nor love for
manual labour is inculcated, among the children. The ethical and aesthetical values were
chiefly inculcated among the students in the olden times but not now. ‘Sound mind in
producing physical, mental, and moral wrecks. It looks like a leap into the darkness of
perverted thinking. Modern students make fun of the values of loyalty, integrity, honesty, and
perseverance which are the very basis of humanism. They show compassion neither for the
animals nor for the aged nor children. The terrorists and the extremists, pick-pockets, and
other anti-social elements are the by-products of modern education. The existence of

lawmakers and law-abiding people is in danger and the future of civilization is in jeopardy.

On the basis of your understanding of the above passage, answer ANY TEN questions
from the eleven given below:
i. The real education is that
a. People score good marks
b. People get good jobs
c. People do not drop out
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d. People have an all-round development
ii. Despite new principles for education by the educationists
a. Desired results are not being achieved
b. Great dismay worries one and all
c. Students are taking no interests
d. Growth is dwindling
iii. The real concern of our educational authorities should be

a. Building more schools to spread education

b. Appointing capable teachers

c. Keeping an eye on the student from the start

d. Preparing new policies for the benefit of students

iv. The major drawback of the present education is

a. Students learn languages but can’t write
b. Students have creative thoughts but can’t share
c. It does not teach them to have sympathy towards anyone
d. It does not inculcate ethical and aesthetical values
v. In the past students used to
a. Respect the values being inculcated in them
b. Didn’t make fun of the bases of humanism
c. Leap into darkness

d. Bright childish imagination
vi. The present-day students lack in basic humanism because

a. They aren’t compassionate

b. They aren’t having a sound mind

c. They are busy having fun in life

d. They don’t respect the values of honesty and perseverance
vii. The present-day system of education has made the students

a. Academically exceptional

b. parasites on their aged parents

c. inhumane and liars

d. respectable and compassionate
viii. Why is the future of civilization in jeopardy?

a. Modern Education is ruining lives

b. Education has just become a money-oriented field

c. Students are becoming terrorists

d. Our educational authorities take concern about a child’s future

ix. Find the synonym of "low" in the passage.
a. dismay
b. meagre

c. truants
d. heed
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X. Find the synonym of "right" in the passage.

a. reality
b. reverse
c. manual
d. ethical
xi. Find the antonym of "inutility".
a. perseverance
b. aesthetical
c. wrecks

d. extremists

Read the passage:

Punctuality is a necessary habit in public affairs of a civilized society. Without it nothing
could ever be brought to a conclusion, everything would be in a state of chaos. Only in a
sparsely populated rural community is it possible to disregard it. In the ordinary living there
can be some tolerance of unpunctuality. The intellectual, who is working on some abstruse
problem, has everything coordinated and organized for the matter in hand. He is therefore
forgiven, if late for the dinner party. But people are often reproached for unpunctuality
when their only fault is cutting fine. It is hard for energetic, quick-minded people to waste
time, so they are often tempted to finish a job before setting out to keep an appointment. If
no accidents occur on the way, like punctured tires, diversion of traffic, sudden descent of
fog, they will be on time. They are often more industrious, useful citizens than those who are
never late. The over-punctual can as much be a trial to others as the unpunctual. The guest
who arrives half an hour too soon is the greatest nuisance. Some friends of my family had
this irritating habit. The only thing to do was to ask them to come half an hour later than the
other guests. Then they arrived just when we wanted them. If you are catching a train, it is
always better to be comfortably early than even a fraction of a minute too late. Although
being early may mean wasting a little time, this will be less than if you miss the train and
have to wait an hour or so for the next one. And you avoid the frustration of arriving at the
very moment when the train is drawing out of the station and being unable to get on it. An
even harder situation is to be on the platform in a good time for a train and still to see it go
off without you. Such an experience befell a certain young girl the first time she was
travelling alone. She entered the station twenty minutes before the train was due since her
parents had impressed upon her that it would be unforgivable to miss it and cause the
friends with whom she was going to stay to meet her. She gave her luggage to a porter and
showed him her ticket. To her horror, he said that she was two hours too soon. She felt in her
handbag, for the piece of paper on which her father had written down all the details of the
journey and gave it to the porter. He agreed that a train did come into the station at the time
on the paper and that it did stop, but only to take on water, not passengers. The girl asked to
see a timetable, feeling sure that her father could not have made such a mistake. The porter
went to fetch one and arrived back with the station master, who produced it with a flourish
and pointed out a microscope ‘0’ beside the time of the arrival of the train at his station. This
little ‘0’ indicated that the train only stopped for water. Just at that moment, the train came

[10]
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into the station. The girl, tears streaming down her face, begged to be allowed to slip into the
guard’s van. But the station master was adamant: rules could not be broken. And she had to

watch that train disappear towards her destination while she was left behind.

On the basis of your understanding of the above passage, answer ANY TEN questions
from the eleven given below:

i. Why is punctuality necessary in a civilized society?

a. To avoid chaos
b. To cause disregard
c. To manage public affairs
d. To bring things to a conclusion

ii. What is the danger of leaving the bare minimum of time for appointments?
a. You will be wasting time
b. You will be to avoid frustrations
c. You will feel comfortable

d. You will not have to wait
iii. The over-punctual can be as much a trial to others as the unpunctual

a. He has everything coordinated and organized
b. He believes that the early bird gets the worm
c. He is wasting as much time as the unpunctual ones
d. There is hardly any difference between the unpunctual and over punctual
iv. Why did the author’s family ask some guests to come half an hour later than others?
a. His presence is not celebrated
b. He always wants first-hand treatment
c. He is considered a nuisance

d. He is asked to come later so that he arrives when he is wanted
v. Why according to the author, is it better to the platform before the train arrives?

a. You will have time to relax at the station
b. It’s good to waste some time in life
c. It can help you avoid frustrations of work
d. It’s better than watching the train leave in front of your eyes
vi. How early did the girl reach the station of her train’s actual time of departure?
a. Just on time of the train
b. 20 minutes before
c. 2 minutes before
d. 2 hours before
vii. Who clarified it to the girl that her father had made a mistake?
a. Station Master
b. Porter
c. Timetable

d. Her mother
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viii. Why the little girl did have tears streaming down her face?

ix. Find a word opposite in meaning to "clear/obvious" in the passage:

a. She wanted to reach her destination at the earliest
b. The station master let her board the train

c. She had to watch the train come in front of her eyes
d. Her early-coming made no difference

a. community
b. abstruse
c. diversion

d. industrious

X. Find a word similar in meaning to "display" in the passage:

a. flourish
b. nuisance
c. timetable
d. fetch

xi. Find a word similar in meaning to "inflexible" in the passage:

3.  Read the extracts given below and attempt ANY TWO of the three given by answering the

a. Over-punctual
b. energetic
c. adamant

d. abstruse

questions that follow. (4+4=8)

a)

Read the extract and answer the following questions:

I have nothing else to do, he mutters, looking away.

"Go to school," I say glibly, realising immediately how hollow the advice must sound.

i. Who does 'T' in the first line refer to?

a. Saheb
b. Mukesh
c. Savita
d. Saheb's father
ii. What did Saheb do to earn a living?
a. Stealing
b. Washing clothes
c. Working as a domestic help
d. Rag picking

iii. Why does the second speaker think his advice sounded hollow?

a. For it would never be accomplished
b. For it was senseless
c. For it was not trustworthy

d. For it was purposeless

iv. Which word in the extract means ‘insincere or superficial'?

[8]
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b)

c)

a. Mutter
b. Advice
c. Glibly

d. Hollow

Read the extract and answer the following questions:
Presently, the landlords learned that Germany had developed synthetic indigo. They,
thereupon, obtained agreements from the sharecroppers to pay them compensation for
being released from the 15 percent arrangement.
i. What product was endorsed by Germany?
a. Synthetic indigo
b. Herbal tea
c. Coffee beans
d. Synthetic fibre
ii. What percentage of land were the peasants compelled to plant indigo?
a. 50 percent
b. 100 percent
c. 15 percent
d. 33 percent
iii. What did the British want the peasants to do instead?

a. To surrender their lands

b. To work for free

c. To work at a reduced price

d. To compensate for being released from 15 percent arrangement

iv. What would be the impact of synthetic indigo on the prices of natural indigo?

a. Price of natural indigo would fall

b. Price of natural indigo would rise marginally

c. Price of natural indigo would be doubled

d. Price of natural indigo would be stagnant
Read the given passage and answer the questions that follow:
I...there...I thought this was an empty place. I didn’t know there was anybody here....

i. From which lesson, the following excerpt has been taken?

a. The Third Level

b. The Enemy

c. On the Face of It

d. Should Wizard hit Mommy

ii. Who is the speaker of these lines?

a. Mr. Lamb

b. Susan Hill

c. Derry's Mother
d. Derry

iii. With whom, "I" is talking?

6/10



a. Derry's Mother
b. Derry
c. Mr. Lamb
d. Susan Hill
iv. Why did "I", think that was an empty place?
a. I couldn't see anyone there
b. Iignored the presence of anyone
c. I knew, that place always remains empty

d. I was telling a lie

4.  Read the extracts given below and attempt ANY ONE of the two given by answering the

questions that follow. (1 x 4 =4)

a)

b)

Read the extract and answer the following questions:

What I want should not be confused with total inactivity.

Life is what it is about;

I want no truck with death.

i. What is it that should not be confused with total inactivity?

a. Silence
b. Lack of desires
c. Illness

d. Sufferings
ii. What is life all about?

a. Moving forward

b. Introspecting deeply
c. Attaining our goals
d. All of these

iii. Explain "no truck with death"?

a. Silence is not completely associated with death
b. No accident with a truck
c. Death caused by a truck
d. Death caused due to a silent disease
iv. What should be the aim of our life?
a. To walk on a meaningful and purposeful path
b. To travel
c. To fight our foes
d. To reach heights
Read the extract given below and answer the following questions:
All lovely tales that we have heard or read;
An endless fountain of immortal drink.
Pouring unto us from the heaven's brink.
i. Name the poet of the given stanza.

a. John Keats

[4]
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b. Pablo Neruda
c. Stephen Spender
d. Robert Frost
ii. What is the thing of beauty mentioned in these lines?
a. Trees
b. Tales
c. Sun
d. Daffodils

iii. What does the immortal drink provide us with?
a. Never-ending joy
b. Everlasting pleasure
c. Beauty that lasts forever
d. All of these

iv. What does the word 'immortal' mean?
a. Living forever
b. Important
¢. Improved
d. Living briefly

5. Attempt ANY EIGHT questions from the ten given below. (1x 8 = 8) [8]
a) Inthe prose The Last Lesson, France was invaded by which country?

a) Prussia b) Russia
¢) Spain d) Sweden
b)  What were Roosevelt's famous words as mentioned in the text Deep Water?

a) A smooth sea never made a b) Above all, try something
skilled sailor

c) All we have to fear is fear itself d) Peace, like charity, begins at
home
) According to Gandhi, who made an attempt to bully him at Tirhut, as discussed in the text

Indigo?

a) The British official commissioner b) The magistrate

of the Tirhut division

¢) The secretary of the British d) The police superintendent's

landlord's association messenger

d) The poet Kamala Das has described her mother's face ashen to display:

a) her customary hard work b) her pale face and grey coloured
skin
¢) her inner beauty and charm d) a cloud of dust on her face

e)  Which poetic device was used by the poet in the phrase, sudden strangeness? (Keeping
quiet)
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a) Transferred Epithet b) Metaphor

c) Alliteration d) Simile

) Gandhiji felt that taking Champaran case to court was useless.

a) because the peasants were fear - b) because the peasants did not
stricken and crushed under the have the money.

British rulers.

c) because he did not trust the d) because lawyers did not agree to

lawyers. stand by Gandhiji's side.

g) In the prose The Third Level, what does the third level mean to the narrator?

a) The way to reach his wife b) The way to a peaceful life

¢) The way to reach his home d) The way to Galesburg
h)  What is that draws Derry towards Mr. Lamb in spite of himself?

a) Mr. Lamb's loving words b) Mr. lamb's nature

¢) Words of motivation d) Words of encouragement

1) In the prose Deep Water, where did William decide to learn to swim as a child?

a) At the cascades b) facts

c) At the Bumping River d) At the Yakima river
), Why did Roger Skunk visit the owl?

a) Skunk wanted to his things back b) To seek his advise

¢) Skunk wanted perfume from owl d) Skunk was missing him

Section B

You have a three bedroom flat in Dwarka, which you want to let out on rent. Draft an [3]
advertisement in not more than 50 words to be published in ‘The Times of India’, under
classified columns.

OR
Sarvodaya Education Society, a charitable organisation, is coming to your school to distribute
books among needy students. As Head Boy/Head Girl, Sunrise Public School, Surat, write a notice
in about 50 words asking such students to drop the list of books they need in the box kept outside
the Principal’s office. You are Navtej/Navita.
Your friend, PV Sathish, has invited you to attend the wedding of his sister, Jaya. You find that [3]
you have an important paper of pre-board examination on the day of the wedding. Thus you
cannot attend the event. Write in about 50 words a formal reply to the invitation expressing
your regret. You are Puneet / Puneeta Vij, M-114, Fort Road, Chennai.

OR
On 15th April, your school is going to hold its annual sports day. You want Mr. Dhanraj Pillai, a
noted hockey player to give away the prizes to the budding sportspersons of the school. Write a
formal invitation in about 50 words requesting him to grace the occasion. You are Karuna/Karan,
Sports Secretary, Sunrise Global School, Agra.

After passing the secondary school examination, a candidate has to make a very difficult [5]1
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10.

11.

12.

13.

choice from a number of streams available to him at the senior school level for further
studies. There is not a valid mechanism to assess the suitability of a candidate for a particular
stream. Write a letter to the Editor of a national daily emphasising the need for educational
counsellors for guidance in this matter in each school. You are Vinita/Vinay, 48, Agra Fort,
Agra.
OR
You are Chetan Sharma, a commerce graduate from Delhi University. You are seeking for a suitable
job. You came across an advertisement in 'The Times of India’, inviting young and dynamic fresh
graduates as sales assistants in a reputed company. Apply for the said job to Box No. 8365, C/o The
Times of India, New Delhi.
The present day youth is greatly stressed due to the cut throat competition and consumerist [5]1
culture. Write an article in 150-200 words on the causes of the stress on the modern
generation suggesting suitable solutions.
OR

You witnessed a fire accident in a slum area near your colony on Saturday night. You were very
much disturbed at the pathetic sight. Write a report in 100-125 words for your school magazine.
You are Lakshmi/Lakshman, a student of PDK International School, Madurai.
Attempt ANY FIVE out of the six questions given below, in 30-40 words each. (2x5=10) [10]

a)  Why will ‘counting up to twelve and keeping still’ help us achieve?

b)  Describe the concept of beauty, according to John Keats.

V)] Whom does Anees Jung blame for the sorry plight of the bangle makers?

d)  What does the title, ‘Lost Spring’ convey?

e)  Why was the crofter happy when the peddler knocked on his door?

i) What were the conditions of the sharecroppers of Champaran?
Attempt ANY TWO out of the three questions given below in 30-40 words each. (2 x2=4) [4]

a)  Why Hana had to wash the wounded man herself?

b) What made Louisa, Charley’s wife, believe that the third level was a reality?

V)] How did the Skunk’s mother get his old smell back?
Attempt ANY ONE of the following questions in 120-150 words (1x5=5) [5]1

a)  What were the unfamiliar sights Franz noticed as he entered the classroom?

b)  Why did the crofter repose confidence in the peddler? How did the peddler betray that

and with what consequence?

Attempt ANY ONE of the following questions in 120-150 words (1x5=5) [5]1

a)  Derry sneaked into Mr Lamb’s garden and it became a turning point in his life. Comment.

b)  How could Gandhiji emerge successful in the episode of Champaran?
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Solution
Class 12 - English Core
Confidence Examination - 1 (2020-21)

Section A
1. 1. (d) People have an all round development
ii. (a) Desired results are not being achieved
iii. (c) Keeping an eye on the student from the start
iv. (d) It does not inculcate ethical and aesthetical values
v. (a) Respect the values being inculcated in them
vi. (d) They don't respect the values of honesty and perseverance
vii. (b) Parasites on their aged parents
viii. (a) Modern Education is ruining lives
ix. (b) Meagre
X. (d) Ethical
Xi. (a) Perseverance

2. 1.(a) To avoid chaos
ii. (b) You will be able to avoid frustrations
iii. (c) He is wasting as much time as the unpunctual ones
iv. (c) He is considered a nuisance
v. (d) It’s better than watching the train leave in front of your eyes
vi. (d) 2 hours before
vii. (a) Station master
viii. (a) She wanted to reach her destination at the earliest
ix. (b) Abstruse
X. (a) Flourish
xi. (c) Adamant
3. Read the extracts given below and attempt ANY TWO of the three given by answering the questions that
follow. (4+4=8)
a) 1i.(a)Saheb
ii. (d) Rag picking
iii. (a) For it would never be accomplished
iv. (c) Glibly
b) i (a) Synthetic indigo
ii. (c) 15 percent
iii. (d) To compensate for being released from 15 percent arrangement
iv. (a) Price of natural indigo would fall
¢) 1 (c) On the Face of It
ii. (d) Derry
iii. (¢c) Mr. Lamb
iv. (a) I couldn't see anyone there
4. Read the extracts given below and attempt ANY ONE of the two given by answering the questions that follow.
(1x4=4)
a) 1. (a)Silence
ii. (d) All of these
iii. (a) Silence is not completely associated with death
iv. (a) To walk on a meaningful and purposeful path
b) i (a) John Keats
ii. (b) Tales
iii. (d) All of these
iv. (a) Living forever
5. Attempt ANY EIGHT questions from the ten given below. (1x 8 = 8)
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a) (a)Prussia
Explanation: France was invaded by Prussia around the late nineteenth century which then
consisted of the present-day nations of Germany, Poland and parts of Austria.

b)  (c) All we have to fear is fear itself
Explanation: William's experience of conquering his fear of water had a deep meaning for him
which he explained by quoting Roosevelt who had said - "All we have to fear is fear itself."

¢) (@) The British official commissioner of the Tirhut division
Explanation: Mahatama Gandhi had decided to gather all the facts about the British landlord
system that existed in Champaran though his first attempt was futile, he had called upon the
British official commissioner of the Tirhut division in which the Champaran district lay but the
commissioner proceeded to bully him instead and told him to leave the place.

d) (b) her pale face and grey coloured skin
Explanation: The poet Kamala Das has utilized 'ashen' to exhibit her mother's pale and dull face.
She looked stagnant like a dead body.

e) (c) Alliteration
Explanation: The repetition of the consonant sound 's' established the use of poetic
device alliteration in the phrase sudden strangeness.

D (c) because he did not trust the lawyers.
Explanation: Gandhiji had felt and noticed it.

g) (b) The way to a peaceful life
Explanation: The third level represented Charley's wish to return to a peaceful life where there
will be no worries, fears, insecurities, war and the rest of it.

h)  (d) Words of encouragement
Explanation: Acid burns only the face, but hatred burns one away inside. He advises Derry never
to think of his burned face and tells him that if he has a firm mind, he can do better than others.
Thus, such words of encouragement that draws Derry towards Mr Lamb.

1)  (b)facts
Explanation: At the YMCA pool

j) (b) To seek his advise
Explanation: Roger Skunk visited the wise owl to seek the advice as to what he should do to get rid
of the stink. The owl advice him to go to the wizard to have his problem solved.

Section B

TO LET
A fully furnished, 3 BHK flat in Dwarka with balconies on two sides is available for rent. The flat is vastu
compliant on fourth floor, lift, modular kitchen, marble flooring, 24 hours water and power supply. Covered
parking for one car. Nearest metro station just 1 km away. Interested parties may contact between 7 to 9 in
the evening.
Mr. Sharma
_|Phone 225690XX

OR

SUNRISE PUBLIC SCHOOL, SURAT
NOTICE
Free Book Distribution for Students
7th July 20XX
Sarvodaya Education Society, a charitable organisation, will distribute free of cost texthooks next week in
the school. All such students who need certain textbooks may drop list of books required by them in the box
kept for this purpose outside the Principal’s office. The lists must be given by the evening of 9th July.
Navtej
(Head Boy)

M-114, Fort Road
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Chennai - 600009

16th March 20XX

Dear Satish,

It was indeed a pleasure to receive an invitation to your sister’s wedding. I would have loved to attend this
great event. However, it will not be possible for me to do so, as my pre-board exams are going on and I have
Chemistry paper on the wedding day.Therefore, I regret I would not be able to join you in the celebration.
Best wishes to your sister for her future life .

Yours faithfully,

_|Puneet Vij

OR

Sunrise Global School,
Agra
29 March 2019
Dear Sir,
Our school is going to organise its Annual Sports Day on 15 April 2019. Your gracious presence will motivate
students and inspire all of us. We request you to come and hand over the prizes to the budding sportspersons
of our school at 2 pm.
Looking forward to your acceptance by 5 April.
Yours faithfully
Karuna
Contact no. XXXXXXXXXX
Sports Secretary

.48, Agra Fort
Agra-282004
9th March, 20XX
The Editor
The Times of India
New Delhi
Sir,
Subject: Educational counsellors needed in schools
Through the columns of your esteemed daily, I would like to raise an issue about the perplexitythat every
student confronts after appearing for the secondary school examination. This is an important phase in a
student's life as he has to decide what he aims at and how he would accomplish it. The students have to make
a difficult choice from a number of streams available to them at the senior school level for further studies.
Students appear to be totally helpless and sometimes even end up making the wrong choice, which they
regret later. There is no valid mechanism to assess the suitability of a candidate for a particular stream. If
there was, the process of stream selection would have been much easier for them. They must go for the
stream they feel themselves to be good at and wherein they can have their utmost growth, personally as well
as professionally. But the irony is that they take subjects forced by peer pressure or parental pressure without
realising their own capabilities. Hence, I feel that there is a need for educational counsellors who can help the
students to understand their hidden qualities. They are required in every school on a regular basis. Parents
and teachers can also play a very important role in shaping young minds.
As it is a critical decision wherein the students need the utmost help, I request you to highlight this in your
newspaper in order to spread awareness about it.
Yours sincerely
Vinita

OR
C-40, Ashok Vihar
New Delhi
1 April 2019

The Advertiser
Box. No. 8365
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C/o The Times of India

New Delhi

Sir

Sub: Application for the post of sales assistant

In response to your advertisement published in 'The Times of India’, dated 20 March 2019, stating the
requirement of young and fresh graduates as sales assistants, I offer my candidature for the same.

I have passed my B. Com. (Hons) from S.R.C.C. Delhi, securing 75% marks. I am a zestful and potential student
of 21 years. The challenges that the above-mentioned post offers me are big and I am excited to face them
under the guidance of your expert team with full enthusiasm for my personal growth and the organisation as
well. I enjoy sound health and pleasing personality. I have a reasonably good command over both Hindi and
English and possess convincing power and good communication skills which, I hope, make me eligible for
this position.

If selected, I shall certainly prove myself worthy of the post. If you find my profile worthy of it, please feel
free to call me at any time suitable to you. I would be glad to come in for an interview.

Yours truly

Chetan Sharma

BIO-DATA
Name Chetan Sharma
Father's Name Sh. Mohan Lal Sharma
Address C-40, Ashok Vihar, New Delhi
Date of Birth 15 September 1998

(1) B.Com (Hons.) in the year 2019 (75%)

Educational Qualifications . .
(ii) CBSE (10+2) Passing year 2016 (83%)

Salary Expected Rs.15,000pm + perks
Marital Status Unmarried
Language Known Hindi, English
Today’s Youth And Stress
by XYZ

The present-day youth is greatly stressed due to the cut-throat competition and consumerist culture. It is
facing unbearable pressure and problems in the field of education, employment and relationships.
Educational problems are related to scoring high marks at school so as to get admission in a good college or
university or getting a higher degree in university. The pressure is so much that students don’t even have
time for recreational activities. As a result, this stress comes out in the form of aggression and violence, as
they are not given time to even relax or enjoy with their peers. They display this sort of behaviour at home, in
school or among friends. The young generation is not getting desired employment, which results in
depression and unbearable pressure. Certain reasons and government policies are to be blamed for this.
Another problem faced by the youth is the instability in their relationships with parents, siblings or friends.
The excessive stress that the youth is facing today is undesirable and can do them much harm. The
government and the parents should actively take actions to reduce this stress among the youth. The youth, on
their part, can reduce the stress through yoga, meditation and engaging themselves in any of their stress-
busters or hobbies like painting, reading books, listening to music etc.
OR
Fire in a Slum Area
by Lakshmi
Madurai, 16th June, 20XX: On the evening of 15 June, 20XX, at about 7 PM, a horrifying fire broke out in the
slum area near Laxmi Vihar Extension.
The ghastly fire burnt down at least 30 shanties. Nearly 15 casualties were reported. The meagre belongings
of daily wagers and labourers living in that slum area were turned to ashes within minutes. The pathetic
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sight of wailing children and women was heart-wrenching. Most of the women were cooking their evening
meals when this incident happened. Since the fire brigades took almost four hours to wipe out the flames and
control the fire, many slum dwellers had to go without any food that night.
People from nearby colony came forward to help the distressed people. They also offered packed food and
water to some of them. The miserable plight of those people will continue to haunt the residents of the colony
for a long time.

10. Attempt ANY FIVE out of the six questions given below, in 30-40 words each. (2x5=10)

a) ‘Counting up to twelve and keeping still’ will help us in introspecting ourselves. The poet believes that
in this moment of extreme stillness and silence we will achieve peace, tranquillity, and brotherhood.
We will forget our differences and barriers between communities will break. We will also get an
opportunity to realize how we are harming nature and ourselves in the name of progress.

b) According to the poet, Aunt Jennifer's tigers are golden-yellow in color and are prancing across the
screen which is a cloth panel. They are the dwellers of green forests and are sleek, chivalric, majestic,
elegant and unafraid of men. This beautiful image is created by Aunt Jennifer.

¢) Anees Jung blames the middlemen, the policemen, the lawmakers, the bureaucrats and the politicians
for the sorry plight of the bangle makers. They are caught in this vicious circle according to her. All
the policie, rules and regulations are made to exploit the poor whereas upper class remains un-
affected by that. The children have to accept their fate else they need to dare to break this circle.

d) The title 'Lost Spring' conveys how millions of children in India lose the best season that is 'spring' of
their lives which is childhood because of poverty. Their life is lost because of hardships in which they
are involved to earn their livelihood.

e) The crofter was happy when the peddler knocked on his door because he was very lonely and lived
alone in a cottage. He did not have a wife or a child. He felt happy as he thought that the peddler
would give him company.

f) The peasants of Champaran were tenants of British landlords. They were growing Indigo on 15
percent of the land and surrendering the harvest as rent to them. But when synthetic Indigo
developed in Germany dropped the price of actual crop, the peasants were forced to pay
compensation. Their misery compounded when they refused to pay compensation as the landlords
hired thugs. They had to turn to the court that always favored the British.

11. Attempt ANY TWO out of the three questions given below in 30-40 words each. (2 x2=4)

a) Hana's maidservant, Yumi, had refused to wash the wounded man. She told her that she had never
washed a white man and that she would not wash such a dirty one. Hana and her husband, Dr. Hoki,
had decided to save the soldier's life and as they were helpless and no help was at hand so Hana
washed him herself.

b) Louisa, like Charley’s friends, believed whatever explanations the psychiatrist friend had given. But
later, when she received a mail from Sam himself from the old Galesburg, Louisa believed that
Charley was true to his claims and even began to search for the third level.

¢) When Roger Skunk reached home smelling like roses, she felt his smell different. She asked Roger
about it. On hearing the truth, she got infuriated and took him back to the wizard. She hit the wizard
on the head with her umbrella and asked him to change his smell to the original.

12. Attempt ANY ONE of the following questions in 120-150 words (1x5=5)

a) Usually, In the morning when the school began, it was full of chaos. There was a great bustle created
by the sound of the opening and closing of desks, lessons repeated in unison, the teacher’s ruler
rapping on the table, a whisper of students and so on. But today it was quiet and calm just like a
Sunday morning. There was an unusual stillness. Franz noticed that all his classmates were seated in
their places and that M. Hamel was dressed formally which was very unusual because he dressed
formally only on inspection and prize distribution day. He was surprised to see that the backbenches
that were usually empty were occupied by the villagers. Moreover, when Franz was expected to get a
scolding by M. Hamel for being late to class, to his surprise, he was rather kind to him and asked him
to go to his place. Everyone in the classroom seemed solemn and were eager to attend the last lesson.

b) The crofter reposed confidence in the peddler because he was lonely and wanted someone with
whom he could share his feelings. He trusted the peddler to the extent of showing him where he had
kept his money. He was really concerned to make him comfortable.

The peddler betrayed his trust by robbing the money and running away. He did not feel anything bad
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about cheating the old man. However, when the peddler went in the forest instead of taking the

highway to avoid police, he got lost and kept returning to the same place again and again. Ultimately,

the peddler realised that he was like a rat caught in a rattrap. The bait he had fallen for was the

crofter's money and he could not escape with it. Thus, the consequence of falling for the bait was that

he himself had fallen into the trap of the world and couldn't find any way to escape it. He was even

sure that God would be punishing him; so he would be unable to come out of that forest ever again.
13. Attempt ANY ONE of the following questions in 120-150 words (1x5=5)

a) Derry, a complex-stricken lad of fourteen, is a victim of inferiority complex which is borne out of a
misinterpretation of himself and the world. He thinks people despise and hate him on account of his
ugly face. So he wants seclusion. He suffers from an acute sense of self-hatred and rejection due to
his burnt face and this leads him to total alienation. Mr Lamb, too, has a disability, a tin leg, but he
never allows his handicap to interfere with the peace and pleasures of his life.

Mr Lamb's meeting with Derry becomes a turning point in the latter's life. Mr. Lamb brings a sea-
level change in the viewpoint of Derry. He helps in boosting self-esteem and confidence to overcome
his physical ugliness. He motivates him to think positively on life, people and things. He gives Derry
confidence and persuades him to develop a positive attitude towards life. His message to Derry is
very clear that alienation and withdrawal is not the solution.

Derry believes in running away from people but Mr. Lamb lives among people. Derry's brief
association with Mr Lamb proves to be quite rewarding. Mr Lamb teaches him a new perspective of
looking at life, people and things.

Derry decides never to get back to his old habit of seclusion. His burnt face will no longer interfere
with his self-respect, poise and confidence. Mr Lamb helps Derry rediscover himself and gives a new
meaning to his life. Mr. Lamb removes all the negativity from the mind of Derry. Now Derry wants to
leave his handicap behind, forge ahead in life and live life to the fullest.

b) Evans was known as Evans the break as he had successfully escaped from the prison thrice.

Thus when he was being sent to the Oxford prison the other governors warned the Governor of
Oxford prison to be careful. Proper precautionary measures were lacking so Evans who was a crafty
and smart prisoner was able to fool the jail authorities and he successfully escaped. He was always
into some trick or the other to escape from prison. The jail authorities though were skeptical, still
they appointed a German teacher for him. He taught Evans for six months. The mistake made by the
prison authorities was that they never checked the authenticity of the German tutor. For the whole
year he never taught German to Evans rather they planned his escape. Mr Jackson left a razor with
Evans for a very long time and Evans used it to trim his hair. After the completion of the exam, he
impersonated the invigilator, Mc Leery. When Stephens came to check whether Evans was in his
place or not, he found a bleeding McLeery who was bound to the chair Evans was sitting. Fake phone
calls play really important role in his escape, had the jail authorities been careful with fake people
and calls Evans escape wouldn’t have been possible. In his panic, Stephens informed the governor of
Evans' escape in the disguise of McLeery. Baffled Governor didn't check the identity of injured
McLeery and sent him to hospital. But later on the Governor got the news that McLeery was not
admitted in the hospital, and he discovered that it was Evans who had deceived the Governor and
escaped from his imprisonment. Infact the rubber tube should also have been disallowed because it
played a major role in Evans escape.
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1. Careful measurement of the electric field at the surface of a black box indicates that the net [1]
outward flux through the surface of the box is 8.0 x 10°Nm? /C. What is the net charge

inside the box?

a) 0.04 uC b) 0.06 uC
¢) 0.05 uC d) 0.07 uC
2. Inseries combination of capacitors, potential drops across the individual capacitors is [1]
a) inverse ratio of charges stored b) direct ratio of capacitors
c) none of these d) inverse ratio of capacitors
3. A current passes through a wire of non-uniform cross section. Which of the following [1]

quantities are independent of the cross section?

a) Current density b) Drift speed
c¢) Free electron density d) The charge crossing in a given time
interval

4. A wire of given length is first bent in one loop and the next time it is bent in three loops. If the [1]
same current is passed in both the cases, the ratio of the magnetic field induction at their

centres will be
a) 1:9 b) 9:1
c) 1:3 d) 1:4

5.  Atoroid of n turns, mean radius R and cross-sectional radius a carries a current I. It is placed  [1]

on a horizontal table taken as x-y plane. Its magnetic moment m

a) is zero, otherwise there would be a b) points along the axis of the tortoid
field falling as r% at large distances (m=m quS).
outside the toroid.

¢) is non-zero and points in the z- d) is pointing radially outwards.
direction by symmetry.

6. The magnetic flux through a circuit of resistance R changes by an amount A¢ in a time At. [1]

Then the total quantity of electric charge Q that passes any point in the circuit during the time

At is represented by:
_ A¢ _ 149
_ pA¢ — A
9@ =Ry V=73
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10.

11.

12.

13.

A series circuit consists of an ac source of variable frequency, a 115.0 {2 resistor, a 1.25 uF
capacitor, and a 4.50-mH inductor. The impedance of this circuit when the angular frequency

of the ac source is adjusted to half the resonant angular frequency is

a) 156.0 2 b) 166.0 {2
c) 176.0 2 d) 146.0 2

Medical x-rays are taken with electromagnetic waves having a wavelength of around 0.10 nm.

What are the frequency and period of such waves?
a) 20.4 x 10'%kHz,5.7 x 10~ 17s b) 3 x 10*%kHz,3.3 x 10~ s
©) 4.2 x 10"°kHz,2.8 x 10~ !7s d) 37.8 x 10°kHz,5.6 x 10~ 17s

A thin convergent glass lens (u, = 1.5) has a power of +5.0 D. When this lens is immersed in a
liquid of refractive index p; it acts as a divergent lens of focal length 100 cm. The value of

(1 must be
4 5
a) 3 b) 3
5 6

Consider a beam of electrons (each electron with energy Eg) incident on a metal surface kept
in an evacuated chamber. Then
a) electrons can be emitted with any b) electrons can be emitted with any

energy, with a maximum of Fy — ¢ ( energy, with a maximum of E.

¢ is the work function)
¢) no electrons will be emitted as only d) electrons can be emitted but all with

photons can emit electrons. an energy, Eo.

In Bohr’s model of hydrogen atom, the total energy of the electron in nth discrete orbit is
proportional to

a) n2 b) o
0+ d) n
n
Assertion (A): When a capacitor is charged by a battery, both the plates receive charge equal
in magnitude, no matter the sizes of plates are identical or not.

Reason (R): The charge distribution on the plates of a capacitor is in accordance with the

charge conservation principle.

a) Both A and R are true and R is the b) Both A and R are true but R is NOT
correct explanation of A the correct explanation of A
¢) A is true but R is false d) A is false and R is also false

Assertion (A): In a simple battery circuit the point at the lowest potential is the positive
terminal of the battery.
Reason (R): The current flows towards the point of the lower potential, as it does in a circuit

from negative to the positive terminal.

a) Both A and R are true and R is the b) Both A and R are true but R is NOT

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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14.

15.

16.

17.

18.

correct explanation of A the correct explanation of A

c) A is true but R is false d) A is false and R is also false
Assertion: Out of galvanometer, ammeter and voltmeter, the resistance of ammeter is the
lowest and resistance of voltmeter is highest.

Reason: An ammeter is connected in series and a voltmeter is connected in parallel, in a

circuit.
a) Both A and R are true and R is the b) Both A and R are true but R is NOT
correct explanation of A the correct explanation of A
¢) A is true but R is false d) A is false and R is also false

[1]

Assertion (A): A conducting rod is moving in a uniform magnetic field such that the length of [1]

the rod, its velocity and the magnetic field are mutually perpendicular, then, an emf will be
induced between the ends of the rod.

Reason (R): As the rod moves as stated above, free electrons in it will experience magnetic
force towards an end of the conductor.

a) Both A and R are true and R is the b) Both A and R are true but R is NOT
correct explanation of A the correct explanation of A
¢) A is true but R is false d) A is false and R is also false

Assertion (A): An inductance and resistance are connected in series with an AC circuit. In this [1]

circuit the current and the potential difference across the resistance lag behind potential
difference across the inductance by an angle %

Reason (R): In L-R AC circuit voltage leads the current by phase angle which depends on the
value of L and R both.

a) Both A and R are true and R is the b) Both A and R are true but R is NOT
correct explanation of A the correct explanation of A
c) A is true but R is false d) A is false and R is also false
Fill in the blanks:

The angle of incidence when a ray of light falls normally on a mirror is
Fill in the blanks:
In the photoelectric effect, the number of emitted photoelectrons is proportional to the
of incident light.

[1]

[1]
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Confidence Examination —1(2020-21)
Descriptive Part
Maximum Marks: 52 Marks Time Allowed: 2 hours
All guestions are compulsory. There are 18 questions in all.
This question paper has four sections: Section A, Section B, Section C, Section D.
Section A has 1 case based question of 4 marks, Section B contains 9 short answer questions of 2
marks each, Section C contains 5 short answer questions of 3 marks each and Section D contains
3 long answer questions of 5 marks each.
There is no overall choice. However internal choice is provided. You have to attempt only one
of the choices in such questions.
Section A

Question 1 is Case Study based questions and is compulsory. Attempt 4 sub
parts from each question. Each question carries 1 mark (MCQ Type

The oil drop experiment

In 1909, Robert Millikan and Harvey Fletcher conducted the oil drop experiment to determine

the charge of an electron. They suspended tiny charged droplets of oil between two metal
electrodes by balancing downward gravitational force with upward drag and electric forces. The
density of the oil was known, so Millikan and Fletcher could determine the droplets’ masses
from their observed radii (since from the radii they could calculate the volume and thus, the
mass). Using the known electric field and the values of gravity and mass, Millikan and Fletcher
determined the charge on oil droplets in mechanical equilibrium. By repeating the experiment,
they confirmed that the charges were all multiples of some fundamental value. They calculated
this value to be 1.5924 x 10— Coulombs (C), which is within 1% of the currently accepted
value of 1.602176487 x 10—'° C. They proposed that this was the charge of a single electron.
(i)What was determined from Millikan's oil drop experiment?

(a)Electric Charge of alpha particle (b) Electric charge of oil drop
(c) Mass of electron (d) none of these
(if) What is the currently accepted value of electric charge of an electron?

(a) 1.5924 x 10-°C  (b)9.1x 10 3 C (c)1.602176487 x 10-° C (d) None of these
(iti) How was the mass of an electron determined?
(a)By the calculation of electric charge (b) by the calculation of density and Volume
(c) By the calculation of electric field (d) by the calculation of gravitational forc
(iv) What was the conclusion of Millikan's oil drop experiment?
(a) Electric charge is integral multiple of fundamental charge (b) Electric charge is integral
multiple of charge of alpha particle (c) No result (d) All of the above

Section-B

Write two properties of equipotential and draw equipotential surface for electric dipole.
Two metallic wires of the same materials have the same length but cross sectional area is in the
ratio of 1:2. They are connected in seriescompare the drift velocities of electrons in the two
wires.ORA 9 V battery is connected in series with a resistor . The terminal voltage is found to be
8 Current through the circuit is measured as 5 A. What is the internal resistance of the battery?

A straight wire of mass 200 g and length 1.5 m carries a current of 2 A. It is suspended in mid air
by a uniform horizontal magnetic field. What is the magnitude of the field?

. Define angle of Dip. What is the value of angle of dip at any place on earth where horizontal and

vertical component of earth magnetic field are equal to each other.

. .Define self-induction. Whyself-induction is called inertia of electricity?



7. Draw a sketch of a plane electromagnetic wave propagating along the z-direction. Depict clearly
the directions of electric and magnetic fields varying sinusoid ally with z.

8. Derive the average value of Sinusoidal Alternating current for half cycle.

9. What do you mean by total internal reflection? Write two conditions to occur TIR.

10.The total energy of an electron in H-atom in ground state is -13.6ev .Find its kinetic energy and
potential energy.

Section- C

11.Define mutual inductance between a pair of coils. Derive an expression for the mutual inductance
of two long coaxial solenoids of same length wound one over the other having radius of cross
section r, and r, where rys I

12.Derive the expression for the force between two parallel long straight conductor carrying current
in the same direction. Hence define one ampere.

13.Using photon picture of light, show how Einstein’s photoelectric equation can be established.
Write two features of photoelectric effect which cannot be explained by wave theory.

14.A parallel plate capacitor is charged to a potential difference V by d.c. source and then
disconnected. The distance between the plates is then halved. Then write the change in (1)
Electric potential difference between the plates (2) Electric field intensity (3) Capacitance of
parallel plate capacitor.OR 64 identical liquid drops coalesce to each other to form a bigger drop.
(a) Find ratio of potential of bigger drop to the smaller drop. (b) Find ratio of capacitance of
bigger drop to the smaller drop.

15.Draw the ray diagram of a compound microscope, when the final image is formed at the least
distance of distinct vision. Write the formula for magnifying power in the above noted case.

Section D

16.(a)Define the term ‘conductivity’ of a metallic wire. Write its SI unit.

(b)Using the concept of free electrons in a conductor, derive the expression for the conductivity
of a wire in terms of number density and relaxation time. Hence obtain the relation between
current density and the applied electric field E.OR

(@) Write statement of Kirchhoff laws of circuit analysis.

(b) What do you mean by balance condition of Wheatstone bridge, deduce the balance condition
of Wheatstone bridge. What will be effect on balance condition of this bridge if position of
battery and galvanometer are interchanged?

17.With the help of a ray diagram, show the formation of image of a point object by refraction of
light at a spherical surface separating two media of refractive indices n; and n, (n, >n,)
respectively. Using this diagram, derive the relation nvz—ﬁ = % .OR

(@) Derive the formula of angle of minimum deviation for a glass prism of refractive index n and
angle of prism A.

(b) A ray of light passing from air through an equilateral glass prism undergoes minimum
deviation when the angle of incidence is 4/3"of the angle of prism. Calculate the speed of light in
the prism.

18.A series LCR circuit is connected to an ac source. Using the phasor diagram, derive the
expression for the impedance of the circuit. Plot a graph to show the variation of current with
frequency of the source. Define Band width in this graph.OR
Draw a schematic diagram of a step-up transformer. Explain its working principle. Deduce the
expression for the secondary to primary voltage in terms of the number of turns in the two coils.
In an ideal transformer, how is this ratio related to the currents in the two coils? How is the
transformer used in large scale transmission and distribution of electrical energy over long
distances?
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(@) 0.07 uC

Explanation: Net outward flux through the surface of the box, ¢ = 8.0 X 103 N m2/C
€0 = Permittivity of free space = 8.854 x 10712 N-1¢2 m2

For a body containing net charge g, flux is given by the relation,

o=73

S0, =C€ ¢ = 8.854 x 10712 x 8.0 x 10°> = 7.08 x 1078 =0.07 uC

Therefore, the net charge inside the box is 0.07 pC.

(d) inverse ratio of capacitors
Explanation: When capacitors are connected in series, they have equal charge but the potential difference

i Q.1 _ Q
acrossthemlsglvenbyvl:a,Vg—a...andso on.

Therefore, V %
(c) Free electron density
Explanation: Free electron density,
=L
J = A
= J =neVy
n is number density, e is electronic charge and Vg is electron drift velocity.

(@ 1:9

Explanation: If the wire has length L, when it is coiled into a coil of 1 turn of radius r, L = 27r
When it is coiled into a coil of 3 turns of radius r’, L = 3 x 277’

2mr = 3 x 2nr';r = 3¢

. e . . ol
The magnetic field in the first case, B = ﬁ
. pond 3l ol
and in the second case, B = ==— = —- = 9
27r! 27r§ 27r
B _ 1
So, 7 =9

(a) is zero, otherwise there would be a field falling as % at large distances outside the toroid.
T

Explanation:
Key concept: Toroid'. A toroid can be considered as a ring shaped closed solenoid. Hence it is like an
endless cylindrical solenoid.

Winding
S,

The magnetic field is only confined inside the body of a toroid in the form of concentric magnetic lines of
force. For any point inside the empty space surrounded by toroid and outside the toroid, the magnetic field
B is zero because the net current enclosed in these spaces is zero and it varies as inversely proportional to
the cube of the distance of the point. . Thus, the magnetic moment of toroid is zero.

A
@Q =2
Explanation: Q = iAt = LAt = %At
Thus, Q = %
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11.

12.

13.

14.

15.

16.

17.

(d) 146.0 2

Explanation: R = 1152
C=125uF=125x10"%F
L=45mH=45x103H

Resonant angular frequency is given by,
VLC  \/45x103x1.25x10°%  7.5x107°
wo

Given that the angular frequency of the ac source, w = = = e 10 - = 6666.6rad/s
X

Thus, Impedance is given by,

2
2 1 -3
Z= \/R2 (w—wL) :\/115 +[<m)—(“66“4‘5“0 )]

Z = 1460
(b) 3 x 10*°kHz,3.3 x 107 17s
Explanation: v = < = 310 _ 3 1018Hz =3 x 10'°kHz

T=1= —A— 3 %;, ;0190—”
v 3x108Hz
M 2
Explanation: f=1/P =1/5 m 20 cm
Now, L = (£ —1)(& - L)
In air, 210 ( 1)(RL RLQ) = 0.5(1%1 — R%) )]

1.5 .
In liquid, 100 (N—1 - 1)(}%1 - R%) )]
Dividing (i) by (ii), we get
0.5
(32-1)
On solving we get, u; = 5/3 = 1.67

(b) electrons can be emitted with any energy, with a maximum of E.
Explanation: When a beam of electrons of energy E of each electron incident on a metal surface kept in a

vacuum, then due to elastic collisions with electrons on surface, the energy of incident electrons will be
transferred to the emitted electrons. To emit the electrons below the surface a part of Ej of incident

electrons is consumed against work function so the energy of emitted electrons becomes less than Eg. So,
the maximum energy of emitted electrons can be Eg and with any energy less than Ej, when part of the
incident energy of the electron is used in liberating the electrons from the surface of the metal.

1
© —
Explanation: In Bohr’s model of the hydrogen atom, the total energy of the electron in n' discrete orbit is
proportional to ;—2
(a) Both A and R are true and R is the correct explanation of A
Explanation: Both A and R are true and R is the correct explanation of A

(d) A is false and R is also false

Explanation: Both assertion and reason are false. In a simple battery circuit, the point at the lowest
potential is the negative terminal of the battery. The current flow in the circuit, from a positive terminal to
the negative terminal.

(c) Ais true but R is false

Explanation: A is true but R is false

(a) Both A and R are true and R is the correct explanation of A
Explanation: Both A and R are true and R is the correct explanation of A

(b) Both A and R are true but R is NOT the correct explanation of A
Explanation: Both A and R are true but R is NOT the correct explanation of A

1. Zero degree
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CLASS 12 - CHEMISTRY
Confidence Examination I 2020-21 Chemistry
Time Allowed: 3 hours Maximum Marks: 70

General Instructions:

1. There are 33 questions in this question paper. All questions are compulsory.

2. Section A: Q. No. 1 to 16 are objective type questions. Q. No. 1 and 2 are passage based questions
carrying 4 marks each while Q. No. 3 to 16 carry 1 mark each.

3. Section B: Q. No. 17 to 25 are short answer questions and carry 2 marks each.

4. Section C: Q. No. 26 to 30 are short answer questions and carry 3 marks each.

5. Section D: Q. No. 31 to 33 are long answer questions carrying 5 marks each.

6. There is no overall choice. However, internal choices have been provided.

7. Use of calculators and log tables is not permitted.

Section A
1. Read the following passage and answer any four out of the following questions: [4]
Transition metal oxides are generally formed by the reaction of metals with oxygen at high
temperatures. The highest oxidation number in the oxides coincides with the group number.

In vanadium, there is a gradual change from the basic V,03 to less basic V2,04 and to

amphoteric V,05. V504 dissolves in acids to give VO2* salts. Potassium dichromate is a very

important chemical used in the leather industry and as an oxidant for the preparation of
many azo compounds. Dichromates are generally prepared from chromate. Sodium
dichromate is more soluble than potassium dichromate. The latter is, therefore, prepared by
treating the solution of sodium dichromate with potassium chloride. Sodium and potassium
dichromates are strong oxidising agents; sodium salt has a greater solubility in water and is
extensively used as an oxidising agent in organic chemistry. Potassium dichromate is used as a
primary standard in volumetric analysis.

The following questions are multiple-choice questions. Choose the most appropriate
answer.

i. All transition metal reacts with oxygen to form MO oxide except

a. scandium
b. vanadium
C. cupper
d. zinc
ii. As the oxidation number of a metal increases, ionic character
a. increases

b. decreases
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c. remain the same

d. none of these
iii. The shape of chromate ion is

a. tetrahedral
b. pyramidal
c. square planer
d. triangular
iv. Dichromates are generally prepared from chromate, which in turn are obtained by the
fusion of

a. FeCry0
b. FeCry04
c. NapCrOy4
d. NayCryOy

v. The oxo cations stabilise VIV
a. VO
b. vO**

c. VO2*
d. all of these

Read the passage and answer the following questions:

The crystal field theory (CFT) is an electrostatic model which considers the metal-ligand bond

to be ionically arising purely from electrostatic interactions between the metal ion and the

ligand. Ligands are treated as point charges in case of anions or point dipoles in case of

neutral molecules. The five d orbitals in an isolated gaseous metal atom/ion have the same

energy, i.e., they are degenerate. In an octahedral coordination entity with six ligands

surrounding the metal atom/ion, there will be repulsion between the electrons in metal d

orbitals and the electrons (or negative charges) of the ligands. This splitting of the degenerate

levels due to the presence of ligands in a definite geometry is termed as crystal field splitting

and the energy separation is denoted by Ag. The colour in the coordination compounds can

be readily explained in terms of the crystal field theory.

In these questions, a statement of assertion followed by a statement of reason is given.

Choose the correct answer out of the following choices.

a. Assertion and reason both are correct statements and reason is correct explanation for
assertion.

b. Assertion and reason both are correct statements but reason is not correct explanation for
assertion.

c. Assertion is correct statement but reason is wrong statement.

d. Assertion is wrong statement but reason is correct statement.
i. Assertion: The dx2y2 and d2 orbitals which point towards the axes along the direction of

the ligand will experience more repulsion.

[4]
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Reason: The dyy, dy; and dx; orbitals which are directed between the axes will be lowered
in energy.
ii. Assertion: The complex [Ti(H20)g]3*, which is red in colour.

Reason: The crystal field theory attributes the colour of the coordination compounds to d-d
transition of the electron.

iii. Assertion: Ligands for which A < P are known as weak field ligands and form high spin
complexes.
Reason: If A > P, than the fourth electron enters one of the eg orbitals giving the
configuration tyg3 egl.

iv. Assertion: In tetrahedral coordination entity formation, the d orbital splitting is inverted
and is smaller as compared to the octahedral field splitting.
Reason: Spectrochemical series is based on the absorption of light by complexes with
different ligands.

v. Assertion: The crystal field model is successful in explaining the formation, structures,
colour and magnetic properties of coordination compounds.

Reason: The anionic ligands are found at the low end of the spectrochemical series.

3 Which of the follwing will give methyl tert. Butyl ether? [1]
a) Tert. Butyl alchol and conc HySO4 b) All of these
c) Tert. Butyl chloride and CH3ONa d) Sodium tert. Butoxide and CH3l
4 Staturated solution of KNo3 is used to make salt bridge because [1]
a) b) Velocity of NOg3™ is greater than K*
Velocity of K* is
more than that of
NOg"
¢) KNOg is highly soluble in water d) Velocity of K" and NO3™ are equal
OR
Product of hydrolysis of cyanohydrin is
a) Hydroxy acids b) Aromatic acids
¢) Amino acids d) Dicarboxylic acids
5. Which of the following has highest boiling point? [1]
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10.

a) 0.1 molal urea solution b) 0.1 molal NaCl solution
¢) 0.1 molal BaCl, solution d) 0.1 molal sugar solution

Methyl bromide is converted into ethane by heating it in ether medium with:

a) Na b) Cu
c) Al d) Zn
OR

[1]

Which branched chain isomer of the hydrocarbon with molecular mass 72u gives only one isomer

of monosubstituted alkyl halide?

a) Tertiary butyl chloride b) Neohexane

¢) Isohexane d) Neopentane

Which of the following has highest boiling point?

a) HCOOH b) CH35CH;3
V)] CH3NH, d) CH30H
OR
+ Cu/HC1

The reaction ArNoCl™ ——— Cu/HCl ArCl + N, + CuCl is named as

a) Sandmeyer reaction b) Carbylamine reaction

c) Claisen reaction d) Gatterman reaction

Which of the following methods is used for sol destruction?

a) Dialysis b) Addition of an electrolyte
¢) Diffusion through semi permeable d) Condensation
membrane
OR

Liquid - liquid solutions are known as

a) Foam b) Aerosols

c) Gel d) Emulsions

In which of the following reactions heterogenous catalysis is involved?

NO(g)
a. 2803 (g) + Oy (g)—— 2S03 ()

Pt(S)
b. 2509 (g) —— 2S03 ()
Fe(S)
c. Ny (g) + 3Hy (8) —— 2NH3 (8)
HCI(l)
d. CH3COOCH3 (1) + HyO (1) ——— CH3COOH (aq) + CH30H(aq)

a) (d) b) (b), (0), (d)
c) (a), (), (c) d) (0), (0)

Reactions with iodine in preparation of aryl iodide from arenes require the presence
of

[1]

[1]

[1]

[1]
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a) diazonium salt b) an oxidizing agent

c) areducing agent d) ZnCl, catalyst

11. A substance forms face centered cubic crystals. Its density is 1.984 g/cm3 and the length of the [1]
edge of the unit cell is 630 pm. Calculate the molar mass in g/mol?

a) 18.66 b) 149.35
c) 74.65 d) 29.85
12.  Assertion: The complex [Co(NH3),CI,]CI gives precipitates corresponding to 2 mol of AgCl [1]

with AgNOg solutions.

Reason: It ionises as [Co(NH3)4CI;]"+ CI".

a) Both assertion and reason are b) Both assertion and reason are
CORRECT and reason is the CORRECT but, reason is NOT THE
CORRECT explanation of the CORRECT explanation of the
assertion. assertion.

¢) Assertion is CORRECT but, reason is d) Assertion is INCORRECT but, reason

INCORRECT. is CORRECT.
Assertion: The IUPAC name of CH3-CH (OH)-COOH is lactic acid. [1]
13 Reason: Lactic acid present in curd due to which it is sour in taste.
a) Assertion and reason both are b) Assertion and reason both are
correct statements and reason is correct statements but reason is not
correct explanation for assertion. correct explanation for assertion.
c) Assertion is correct statement but d) Assertion is wrong statement but
reason is wrong statement. reason is correct statement.
14.  Assertion: Osmotic pressure of 0.1 M urea solution is less than that of 0.1 M NaCl solution. [1]

Reason: Osmotic pressure is not a colligative property.

a) Both assertion and reason are b) Both assertion and reason are
CORRECT and reason is the CORRECT CORRECT but, reason is NOT THE
explanation of the assertion. CORRECT explanation of the

assertion.

c) Assertion is CORRECT but, reason is d) Assertion is INCORRECT but, reason
INCORRECT. is CORRECT.

OR

Assertion: When methyl alcohol is added to water, the boiling point of water increases.

Reason: When a volatile solute is added to a volatile solvent elevation in the boiling point is

observed.
a) Assertion and reason both are b) Assertion and reason both are
correct statements and reason is the correct statements but the reason is
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correct explanation for the assertion. not the correct explanation for the

assertion.
¢) The assertion is a correct statement d) Assertion and reason both are
but the reason is the wrong incorrect statements.

statement.

15.  Assertion: Alcohols have higher boiling points than ethers of comparable molecular masses.  [1]

Reason: Alcohols and ethers are isomeric compounds.

a) Both assertion and reason are b) Both assertion and reason are
CORRECT and reason is the CORRECT CORRECT but, reason is NOT THE
explanation of the assertion. CORRECT explanation of the

assertion.

¢) Assertion is CORRECT but, reason is d) Assertion is INCORRECT but, reason
INCORRECT. is CORRECT.

16.  Assertion: Hydrolysis of (-)-2-bromooctane proceeds with inversion of configuration. [1]
Reason: This reaction proceeds through the formation of a carbocation.

a) The assertion is correct but the b) Assertion and reason both are
reason is the wrong statement. correct and reason is correct

explanation of assertion.

c) Assertion and reason both are wrong d) Assertion and reason both are
statements. correct statements but reason is not

correct explanation of assertion.

Section B

17.  Identify the compounds A, B, C and D in the following sequence of reaction [2]
Conc.H, S0, HBr KOH(aq)
02 H 5 OH > A »B yC'— D
443K I,,NaOH yellow ppt.
OR

Write the structure of the major organic product of the reaction:
ethanol
(CH3)3 CBr + KOH ——
heat
18.  The vapour pressure of pure benzene at a certain temperature is 0.850 bar. A non-volatile, [2]

non-electrolyte solid weighing 0.5 g when added to 39.0 g of benzene (molar mass 78 g mol1).
Vapour pressure of the solution, then, is 0.845 bar. What is the molar mass of the solid
substance?

19.  Adsorption of a gas on the surface of solid is generally accompanied by a decrease in entropy. [2]
Still it is a spontaneous process. Explain.

OR

Define the term adsorption. Represent the variation of gas adsorption on a solid surface
graphically with temperature and pressure.

20.  For the reaction at 500 K NOs(g) + CO(g) — CO2(g) + NO(g). The proposed mechanism [2]
is as follows:

1N02+N02 —>N0+N03(SIOW)
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ii. N03 + CO9 — COy + NOy(fast)
What is the rate law & order for this reaction?
21.  The half-life for radioactive decay of 14C is 5730 years. An archaeological artifact wood had [2]

only 80% of the 14C found in a living tree. Estimate the age of the sample.

22.  Explain a chemical test to distinguish between primary, secondary and tertiary alcohols. [2]

23.  Account for the following statement: Zinc salts are white while Cu2* salts are coloured. [At. [2]
No. Zn = 30, Cu = 29]

24.  Write the products of the following reactions: [2]

H peroxide
L — + HBr —
H H

ii. CH3-CHy-CH=CHy + HCl

25.  Ionic solids, which have anionic vacancies due to metal excess defect develop colour. Explain  [2]
with the help of suitable example..
Section C
26.  Explain the following observations: 3]

a. CIF3 exists but FCl3 does not.

b. Among the hydrides of elements of group 16, water shows unusual physical
properties.Justifying the order of your choice,

c. Arrange the following in decreasing order of property indicated.

1. HC1O4, HClO3, HC1O9, HCIO oxidizing power.

OR

Draw the structural formulae of the following:
1. IF3

2. H2S05
3. XeFy

27. Explain the mechanism of acid catalysed hydration of an alkene to form [3]
corresponding alcohol.
OR
i. Stating the necessary reaction conditions, write chemical equations to obtain the following:
Chlorobenzene from aniline
ii. Identify A and B in the following:
CH,Br

d. N~ Ui/
c LM, |

NH,  Ni/H,
b.R:CO — A — B

28.  Analysis shows that nickel oxide has the formula Nig 9g01.99- What fractions of nickel exist as  [3]

Ni2* and Ni3* ions?
29.  Write the equation involved in the following reactions: [3]
a, Wolff reduction
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30.

31

32.

b. HVZ reaction

c. Etard reactio

Name the reagents used in the following reactions:

i. Oxidation of a primary alcohol to carboxylic acid.

ii.

1ii

o

Oxidation of a primary alcohol to an aldehyde.
. Bromination of phenol to 2, 4, 6-tribromophenol.

Section D

. Give reasons for the following observations:

a. Halogens are strong oxidising agents.

b. Noble gases have very low boiling points.

c. O and Cl has nearly the same electronegativity, yet oxygen forms H bond while Cl
doesn’t.

. Complete and balance the following chemical equations:

a. NaOH + Cly —
(cold +dil.)

b. I'(aq) + OH(1) + Oy (g) —

OR

1. Write the disproportionation reaction of H3POs.

ii. Draw the structure of XeFj4.

. Account for the following :

[3]

[5]

i. Although Fluorine has less negative electron gain enthalpy yet F5 is strong oxidizing agent.

ii. Acidic character decreases from NoO3 to Bi;O3 in group 15.
Write a chemical reaction to test sulphur dioxide gas. Write chemical equation involved.

. Predict the main product of the following reactions :

[Ag(NH,),]*
L 0 Q :

CHO

0 0
[ [ (i) NaBH,

* CH, - C - CH, - C - OCH, >

(ii) H*

i : CHO + 'UH;j _ CHO dil NaOH

b. Give a simple chemical test to distinguish between

O O
1 1

C - CH, C - CgH;
™ O

¢. Why is alpha (&) hydrogen of carbonyl compounds are acidic in nature?

OR

[5]

An unknown aldehyde A on reacting with alkali gives a 8- hydroxy-aldehyde, which losses water
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to form an unsaturated aldehyde, 2-butenal. Another aldehyde B undergoes disproportionation
reaction in the presence of conc. alkali to form products C and D. C is an aryl alcohol with formula
C7HgO.

i. Identify A and B
ii. Write the sequence of reactions involved.

iii. Name the product, when 'B' reacts with Zn amalgam and hydrochloric acid.

A voltaic cell is set up at 25°C with the half cells, Al| Al13* (0.001 M) and Ni|Ni*2 (0.50 M). Write [5]
the equation for the reaction that occurs when the cell generates an electric current and
determine the cell potential.Calculate standared gibbs free energy & equlibrium constant for
this cell.

; . ;0 _ 0 _
Given: E(Nz'2+/Nz') = 0’25VE(A13+/A1) =—1.66V

OR

Define conductivity &molar conductivity of the solution
Resistance of a conductivity cell filled with 0.1 mol LKCI solution is 100Q. If the
resistance of the same cell when filled with 0.02 mol L-1KCl solution is 5209, calculate
the conductivity and molar conductivity of 0.02 mol L-1KCl solution. The conductivity

of 0.1 mol L' 1KClsolution is 1.29 S/m.
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Solution
Class 12 - Chemistry

Confidence Examination I 2020-21 Chemistry

Section A
1. 1i.(a) scandium
ii. (b) decreases
iii. (a) tetrahedral
iv. (b) FeCry04
v. (c) VO?*
2. 1. (b) Assertion and reason both are correct statements but reason is not correct explanation for assertion
ii. (d) Assertion is wrong statement but reason is correct statement
iii. (c) Assertion is correct statement but reason is wrong statement
iv. (b) Assertion and reason both are correct statements but reason is not correct explanation for assertion
v. (b) Assertion and reason both are correct statements but reason is not correct explanation for assertion
3. (d) Sodium tert. Butoxide and CH3l
Explanation: --——--

4. (a)

Velocity of K* is more than that of NO3

Explanation: -
OR

(a) Hydroxy acids
Explanation: -

5.  (c) 0.1 molal BaCl, solution

Explanation: i=3 so AT}, will be maximum and hence Tb will be maximum.

6. (a)Na
Explanation: The Wurtz reaction, named after Charles-Adolphe Wurtz, is a coupling reaction in organic
chemistry, organometallic chemistry and recently inorganic main group polymers, whereby two alkyl
halides are reacted with sodium metal in dry ether solution to form a higher alkane: 2R-X + 2Na — R-R +
2NaX.

OR

(d) Neopentane
Explanation: Neopentane has all same type of hydrogen and has molecular weight 72u.

7. (a) HCOOH
Explanation: In carboxylic acids, the intermolecular hydrogen bonding is very strong compared to
alcohols, therefore, it has the highest boiling point.
On the other hand, alcohols form stronger hydrogen bonds (intermolecular) compared to amines. And
alkanes are non-polar so do not form any hydrogen bonds.
As the strength of hydrogen bonding increases, the boiling point also increases.
Thus boiling point order will be HCOOH > CH30H > CH3NH, > CH3CH3.

OR

(d) Gatterman reaction
Explanation:
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10.

11.

12.

13.

14.

15.

16.

17.

+

N.Cl Cl

Cu/HCI -
AN +Na+ CuCl

Clis introduced in the benzene ring in the presence of Cu powder is named Gatterman reaction.

(b) Addition of an electrolyte
Explanation: Electrolyte makes the colloid destroy.

OR

(d) Emulsions
Explanation: Dispersed phase and dispersion medium both are liquids.

(@ (h), (0
Explanation: In reaction (b) and reaction (c), catalysts are in solid-state, and reactants and products are
gases hence they are heterogeneous catalysts.

(b) an oxidizing agent
Explanation: Reactions with iodine are reversible in nature and require the presence of an oxidizing agent
(HNO3, HIO4) to oxidize the HI formed during iodination.

(c) 74.65

Explanation: M =
_ 1.984x6.02x 10?8 x25.0x10°23

4
= 74.65 g mol
(d) Assertion is INCORRECT but, reason is CORRECT.
Explanation: Assertion is INCORRECT but, reason is CORRECT.

dNAa3

(d) Assertion is wrong statement but reason is correct statement.
Explanation: -

(c) Assertion is CORRECT but, reason is INCORRECT.
Explanation: Assertion is CORRECT but, reason is INCORRECT.

OR

(d) Assertion and reason both are incorrect statements.
Explanation: When methyl alcohol (volatile) is added to water, the boiling point of water decreases
because vapour pressure increases when a volatile solute is added to a volatile solvent.

(b) Both assertion and reason are CORRECT but, reason is NOT THE CORRECT explanation of the assertion.
Explanation: Both assertion and reason are CORRECT but, reason is NOT THE CORRECT explanation of the
assertion.

(a) The assertion is correct but the reason is the wrong statement.
Explanation: Hydrolysis of alkyl halides with inversion of configuration is an example of S\y2 mechanism.

This mechanism is a one-step process and does not involve the formation of a carbocation.

Section B
Conc.Hy50,4,443 K HBr
02H5OH >CH2,= CHy, —

AI
KOH(aq)
CH3CH2B7“—> CHgCHQOH
/BI /Cl
I,/NaOH
5 CH,I
ID/
yellow ppt

OR
ethanol
(CH;3),CBr+ KOH CHs; — C = CHy + KBr+ H,O

heat . |
(Dehydrohalogenation) CH,

2— Bromo—2methylpropane

2— Methylpropene

2/7



18. The various quantities known to us are as follows:
p1° = 0.850 bar; p = 0.845 bar; My = 78g mol; wy, = 0.5 g, w;=39g

Substituting these values in equation of relative lowering of vapour pressure, we get

0.850 bar —0.845 bar _ 0.5gx 78gmol
0.850 bar M, x39g

Therefore, My =170 g moll

19. According to the equation
AG = AH —-TAS
For a process to be spontaneous AG should be negative. Even though AS is negative here, AG is negative
because reactions is highly exothermic i.e. the AH is negative.

OR

Adsorption is a phenomenon in which concentration of solute is more at the surface and less in the bulk.
Physical adsorption of a gas on solid decreases with increase in temperature and increases with increases in
pressure.
Chemical adsorption first increases and then decreases with increase in temperature whereas, with the
increase in pressure, adsorption first increase and then becomes independent of pressure.
Graphs between % and T and % and P for physical and chemical adsorption are shown in the figures below:

+ Physical * Chemical
X adsorption x adsorption
m m
l |
A 1
1 I
| 1
t Physical t | ' Chemical
m adsorption  m ! adsorption
I | T
I
—P—> —P— >

% represents extent of adsorption, where x is mass of adsorbate, m is mass of adsorbent.
20. Since step (i) is slowest step of reaction and slowest step determines the rate law.
Ratelaw = & = K[NO,]?

dt
order is 2
_ 0693 _ 0.693 ~1
21. Here,k = f. — 5730 Years

It is known that,
R
P 2.:;;0310g [Rly _ 23037, 100

[R] ~ 693 80
5730

= 1845 years (approximately)
Hence, the age of the sample is 1845 years.

22. Primary tertiary and secondary alcohols can be distinguished by oxidation reaction. Primary alcohols give
aldehyde with CrOg

CT‘O3
RCH,OH —— RCHO
Secondary alcohols give ketone with CrOg

CTO3
Tertiary alcohol do not get oxidized with CrOg
C’I‘Og
R3COH —— No reaction
23. In zinc salts, Zn%* does not have unpaired electrons, therefore cannot undergo d-d transitions. Whereas in

Cu?* ions there is one unpaired electron in d orbital due to which it can undergo d-d transitions and hence

Cu*2 salts are coloured.

H peroxide
24. i. aae + HRr E— CGHS - CHZ - CHzBI'
H

H
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ii. CHs - CHy - CH = CH;, + HCl — CHj3 - CH; - CHCl-CHy

25. Alkali metal halide like NaCl and KCI shows this type of defect. When its crystals of NaCl are heated in

presence of sodium vapour, some chloride ion leaves their lattice sites to combine with sodium to form NacCl.

For this reaction to occur Na atoms lose electrons to form Na* ions. The electron has released diffuse into the

crystal to occupy the anion vacancies created by Cl™ ions. The crystal now has excess of sodium. The sites
occupied by unpaired electrons are called F-centres, as shown in figure. They impart yellow colour to the
crystal because they absorb energy from the visible light and get excited.

00000
02000¢

00+00
00000«

Section C

26. a.Itis because 'Cl' has vacant d-orbitals whereas 'F' does not have d-orbitals. So Cl can show higher oxidation

state, but F cannot.
b.

i. Water is liquid due to the presence of intermolecular hydrogen bonding and other hydrides are gases
due to the absence of hydrogen bonding. Therefore, Water is thermally most stable among hydrides of

group 16 elements.

ii. HCIO is unstable breaks down to HCI and [O]. Due to which it is a strong oxidizing agent. The stability

increases, hence Oxidising power decreases in order:

HCIO > HCIO, > HCIO03 > HClO4
OR

Structures of compounds are given below:
i. BFg

o p o

OR
NH, NiCr Cl
i. NaNO, + HCI cuCl
2 ;
273 -278 K HCl
Aniline Chlorobenzene

ii. a. . LA,
Bromophenyl A ‘B
methane Benzyl cyanide 2-Phenylethanamine
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Ni/H;

NH:
b RyCO —5R—C=NH — R—|C’H—NH2

R R
A ' B'(Dialkylethana min e)

28. The formula of nickel oxide is Nig 9g01.g0-

Therefore, the ratio of the number of Ni atoms to the number of O atoms, Ni:O = 0.98 :1.00 = 98 : 100
Now, total charge on 100 O -ions = 100 x (-2) =-200

29.

30.

31

Let the number of Ni%* ions be x.

So, the number of Ni3* ions is 98 -x.

Now, total charge on Ni%* ions = x(+2) = +2x

And, total charge on Ni3* ions = (98 -x)(+3)= 294 -3x
hence, total positive charge on Ni ions= 2x+294-3x= 294-x
Since, the compound is neutral, we can write:
Total positive charge = total negative charge

294 -x =200

(294-x-200)=0

=-x+94=0

=Xx=94

Therefore, number of Ni%* ions = 94

And, number of Ni3* ions =98-94 =4

Hence, fraction of nickel that exists as Ni2* = %= 0.959

And, fraction of nickel that exists as Ni3* =% =0.041

Alternatively, fraction of nickel that exists as Ni3* = 1 - 0.959 = 0.041
Write the equation involved in the following reactions:
a, Wolff reduction
b. HVZ reaction
c. Etard reaction
i. KMnO4/KOH(alkaline KMnOyg)

ii. Cu/573 K (Hot reduced copper)
iii. Bro(aq)(Bromine water)

Section D

i. a. The general electronic configuration of halogens is np>, where n = 2-6. Thus, halogens need only one

ii.

more electron to complete their octet and to attain a stable noble gas configuration. Also, halogens are
highly electronegative with low dissociation energies and high negative electron gain enthalpies.
Therefore, they have a high tendency to gain an electron. Hence, they act as strong oxidizing agents.

. Noble gases being monoatomic have no interatomic forces except weak dispersion forces and

therefore, they are liquefied at very low temperatures. Hence, they have low boiling points. Helium has
the lowest boiling point.

. The formation of hydrogen bonding depends on the size of the atom. smaller the size greater the

hydrogen bonding.although the electronegativity is the same but Oxygen has a smaller size than
chlorine. Smaller size favours hydrogen bonding.

. With cold and dil. alkalies chlorine produces a mixture of chloride and hypochlorite.

2NaOH(aq) + ClQ(g) — NaC’l(aq) + NaOC’l(aq) + HQO([)

. The reaction of iodine with water is non-spontaneous. I" can oxidised by oxygen 2I" (aq) + 4H" (aq) + O,

(g) — 212(8) + ZHzo(l)
OR

i. Disproportionation reaction of HgPOsg:

4H3PO3 — 3H3PO4 + PH3
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ii. Structure of XeFy:

3

b. i Fluorine (Fy ) is strong oxidizing agent due to small size and low bond dissociation enthalpy.

ii. As the size increases, electronegativity decreases and non-metallic character also decreases. So, acidic
character decreases from N,O3 to Bi;O3 in group 15.

c. Chemical reaction to test sulphur dioxide gas:
5502 4 2MnOy4 + 2H>0 — 5805 + 4H" + 2Mn*"

- COO
O

ii. CH3 CH(OH) COOCHj

. CH (OH) CHz2 CHO

b. Chemical test to distinguish between acetophenone and benzophenone:
On adding NaOH / I and heat, acetophenone forms yellow ppt. of iodoform(CHI3) whereas benzophenone

does not.
c. Due to resonance stabilisation of conjugate base of carbonyl compound, alpha(a) hydrogen of carbonyl
compounds are acidic in nature.

OR
OH
dilNaOH \
CH;CHO + CH,;CHO — CH, - CH - CH, - CHO
A B JHeat
CH;CH = CHCHO + H,O
But - 2 - enal
CHO CH,OH COONa
Y ey
comnc.
(B) () (D)
Benzaldehyde Benzyl alcohol Sedium Benoate

i. 'A' is acetaldehyde, 'B' is Benzaldehyde.

ii. Reactions are shown above. First one is Aldol condensation(aldehydes and ketones containing one alpha
hydrogen atom) and second one is Cannizzaro reaction(aldehydes and ketones containing no alpha
hydrogen atom)

iii. This is Clemmensen Reduction.
CHO CH3z

Zn = Hg/HCl
.—.—b
[ t * H0

Benzaldehyde
‘ Methyl Benzene

33. Half cell equation are:
Al —s A" + 3e” (At Anode)

Ni** + 2e” —— Ni (At cathode)

24l + 3Ni*™ — 2A°” + 3Ni {Overall reaction)

The cell may be represented as:
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Al|AB*||N#+| Nt
Egell = Ev(")ight - Eloeft
=(-0.25) - (-1.66)
=-0.25+1.66
=141V
Applying Nernst equation to the above cell reaction.

- 0.0501,  (107°)° 0.0591 6
Eca = 141V — =5 log ~ - = 141V — =% log (8 x 107°)
= 1.41V — 222 (log 2° + log 10~°)
= 1.41V — 289L[3 » Jog2 + (—67)log 10]

= 141V — 28%0(3 % 0.3010 — 6]

=1.41V +0.050 V
Ecel = 1.46 V

OR
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ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 12 - MATHEMATICS
Confidence Examination-I (2020-21)
Time Allowed: 3 hours Maximum Marks: 80

General Instructions:

1. This question paper contains two parts A and B. Each part is compulsory. Part A carries 24
marks and Part B carries 56 marks

2. Part-A has Objective Type Questions and Part -B has Descriptive Type Questions

3. Both Part A and Part B have choices.
Part - A:

1. It consists of two sections- I and II.

2. Section I comprises of 16 very short answer type questions.

3. Section II contains 2 case studies. Each case study comprises of 5 case-based MCQs. An examinee

is to attempt any 4 out of 5 MCQs.
Part - B:

1. It consists of three sections- III, IV and V.
2. Section III comprises of 10 questions of 2 marks each.
3. Section IV comprises of 7 questions of 3 marks each.
4. Section V comprises of 3 questions of 5 marks each.
5. Internal choice is provided in 3 questions of Section -III, 2 questions of SectionIV and 3
questions of Section-V. You have to attempt only one of the alternatives in all such questions.
Part - A Section - I

1. Show that the function f: R — R : f(x) = x> is one-one and onto. 1]
OR
Show that f: R — R, given by f (X) = X - [X], is neither one-one nor onto.
2.  LetRis the equivalence relation in the set A = {0, 1, 2, 3, 4, 5} given by R = {(a, b): 2 divides (a- [1]
b)}. Write the equivalence class [0].
OR
Determine the relation is reflexive, symmetric and transitive:
Relation R in the set A of human beings in a town at a particular time is given by

R ={(x,y): xis father of y}

3. Show that the function f : N — N : f(x) = x3 is one - one into [1]
Give an example of matrices A and B such that A#0, B#0,AB=BA=0 [1]
(i—25)? [1]

5. Constructa 2 X 2 matrix A = [ajj], whose element aj; = —;
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10.
11.
12.
13.
14.
15.

16.

17.

OR

0 a b
Show that the matrix A= | —a 0 ¢ | is skew-symmetric. Show that A '= - A.
—-b —c O

Show that the following system of equations is inconsistent:
2x+y=3,4x+2y=5.

. . . d
Find the integral: [ \/ﬁ

OR
Evaluate: f (53:3 +22 0 T+ % + %) dx.

Find the area of the region bounded by the curvesy = |x- 2|, x =1, x = 3 and the x-axis.
Determine order and degree (if defined) of differential equation: y" + 2y' + siny = 0
OR

2
Solve the diff eq. d—y—i— - y =0

If a —21+J—i—3kand b _31—|—5J — 2k, thenf1nd|a X b|

Letd =14 +2jand b=2i+ j.1s|al = |b|'? Are the vector a and b equal?

Find the angle between two vectors a and bifa = V3, b= 2, and a. b= V6
Show that the points A (2, 3,-4), B (1, -2, 3) and C (3, 8, -11) are collinear.

Evaluate cos™ (cos 13 pi /6)
Find the points of discontinuity for the function f(x) = [X] , where [.] represents greatest

integer function.

Find the area bounded by the curve y = x3, the x-axis and the ordinates x = -2 and x= 1
Section - II

Two farmers Ramkishan and Gurcharan Singh cultivates only three varieties of rice

namely Basmati, Permal and Naura. The Quantity of sale (in Kg) of these varieties of rice
by both the farmers in the month of September and October are given by the following

matrices A and B.

BASMATI PERMAL NAURA

1000 2000 3000 | RAMAKRISHAN
5000 3000 1000

GURCHARAN SINGH

A(September sales) = [

BASMATI PERMAL  NAURA

5000 10000 6000 RAMAKRISHAN
20000 10000 10000
Based on the above information answer the following:

B(October sales) = [

GURCHARAN SINGH

[1]

[1]

[1]
[1]

[1]

[1]
[1]
[1]
[1]

[1]

[1]

[4]

2/7



(i) Find the combined sales in September and October for each farmer in each variety.

_gﬂﬁf}ﬂ-“ fﬁwl- g?jﬁj RAMAKRIEHAMN
?[]{:"} ] 30{]{} 2{][‘!0 GURCHARAM SINGH
_ BASMATI  PERMAL

6000 12000 90(}37 i

L ?ﬂﬂﬂ ] 3{)(}“ 2{]{}'} GURCHARAM SINGH
~ BASMATI PERMAL NAU
6000 12000 9000 | ramassan
25000 13000 2000

BASMATI PERMAL  NAURA

6000 12000 9[}{]{}} RAMAKRISHAN

(a)Total sales =

(b)Total sales =

(c)Total sales =

GURCHARAMN SINGH

{(d)Toral sales =
25000 13000 11000

GURCHARAN SINGH

(i) Find the decrease in sales from Selptemher to October.
~BASMATI

PERMAL MALIR
4000 R000 9000 | gamaxrisHan
(a)Net Decrease in sales =
7000 13000 2000

L GURCHARAM SINGH
_ BASMATI PERMAL  MAURA

4000 8000 3000 RAMAKRISHAN
15000 13000 2000

: BASMATI PERMAL MAURA
4000 2000 3000
(c)Net Decrease in sales =
15000 7000 9000

L GURCHARAN SINGH
BASMATI  PERMAL NALRA

4000 8000 3{]{)[}} RAMAKRISHAN

(b)Net Decrease in sales =
GURCHARAN SINGH

RAMAKRISHAN

(d)Net Decrease in sales

15000 13000 9000

GURCHARAN SINGH

If Ramakrishan sell the variety of rice (per kg) i.e. Basmati, Permal and Naura at Rs. 30,
Rs. 20 & Rs. 10 respectively, While Gurcharan Singh Sell the variety of rice (per kg) i.e.
Basmati, Permal and Naura at Rs. 40, Rs. 30 & Rs. 20 respectively.

(iii) Find the Total Selling Price received by Ramakrishan in the month of September.
(a) Rs. 80,000
(b) Rs. 90,000
(c) Rs. 1,00,000
(d) Rs. 1,10,000

(iv) Find the Total Selling Price received by Gurcharan Singh in the month of September.
(a) Rs. 1,10,000
(b) Rs. 2,10,000
(c) Rs. 3,00,000
(d) Rs. 3,10,000

(v) Find the Total Selling Price received by Ramakrishan in the month of September &
October.
(a) Rs. 4,00,000
(b) Rs. 5,00,000
(c) Rs. 5,10,000
(d) Rs. 6,10,000

[4]
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An architect designs a building for a multi-national company. The floor consists
of a rectangular region with semicircular ends having a perimeter of 200m as

shown below:

Design of Floor ¥

-
-
W 'I—‘-ﬂ—I-J

18. € X

Building

Based on the above information answer the following:

(i) If x and vy represents the length and breadth of the rectangular region, then

the relation between the variables is

a) x+my=100
b) 2x+ 1y =200
c) mx+y=50
d) x+y=100

(ii)The area of the rectangular region A expressed as a function of X is

2 2
a) er(100x— %)
b) i(100x— %)
T
c) %(100 — x)

d) ﬂ:y2+%(100x — x%)

4/7



19.
20.

21.

22.

(iii) The maximum value of area A is

T
m
3200
3200

T

5000

a) 5

2
m

b)

C) m

1000

T

2
m

d)

(iv) The CEO of the multi-national company is interested in maximizing the area
of the whole floor including the semi-circular ends. For this to happen the valve

of x should be

(v) The extra area generated if the area of the whole floor is maximized is :

Prove that: tan™1(2) = %tan_l (12)
Let A(1, 3), B(0, 0) find C(k, 0) be three points such. that ar(AABC) = 3 sq units. Find the value
of k.

a) Om
b) 30m
c) 50m
d) 80m

3000

m

a)

5000

m

d) No change Both areas are equal
Part - B Section - ITI

3 5

z 1
Find the integral value of x, if | 0 2 1]=28

Find a point on the curve y = (x - 3)2, where the tangent is parallel to the chord joining the

3 1 4

points (3, 0) and (4, 1).

Find both the maximum and the minimum value of 3x% - 8x3 + 12x2 - 48x + 1 on the interval [1,

4].

[2]
[2]

[2]

[2]
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23.

24.
23.

26.

27.
28.

29.

30.

31.

32.

33.
34.

33.

36.

Find the integral of the function —==2— [2]

1+4cosx
OR
Evaluate the definite integral [, ! _dz
0 142
Find the area of the smaller part of the circle x2 + y2 = a2 cut off by the line z = % [2]
Verify that y = et % i5 a solution of the differential equation [2]
2\ 4’y dy _

(1+$ )@—1—(233—1)%—0

GRS SN [2]

If a, b, c bethe vectors represented by the sides of a triangle, taken in order, then prove
- - —
that a + b + ¢ = 0.
Find dy/dx for x¥ = y* [2]
A husband and wife appear in an interview for two vacancies for the same post. The [2]

probability of husband's selection is % and that of wife's selection is % What is the probability

that only one of them will be selected?

OR

If in a binomial distribution mean is 5 and variance is 4, write the number of trials.
Section - IV
1, ifx>0 [3]
Show that the Signum Function f:R — R, given by f(z) = ¢ 0, if £ = 0 is neither one-
-1, ifz<0

one nor onto.
Ify = e'¥ ' prove that (1 +x2) yy + (2X-1) y1 = 0 [3]
Ify = (®)OS X + (cos )N X, find 22, [3]

OR
If x sin(a +y) + sin a cos(a + y) = 0, then prove that % = m:li—a:y)
Find the interval in function f(z) = $2* — 42% — 452% + 51 is increasing or decreasing. ~ [3]
Evaluate: [ cot® x dx [3]
Find the area under the curve y = Va2 — 22 between the lines x=0 and x=a [3]

OR
Using the method of integration, find the area of the region bounded by the lines: 2x +y = 4, 3x - 2y
=6andx-3y+5=0.
The rate of growth of a population is proportional to the number present. If the population of [3]
a city doubled in the past 25 years, and the present population is 100000, when will the city
have a population of 500000? [Given loge 5 = 1.609, loge 2 = 0.6931.]

Section -V
The cost of 4kg onion, 3kg wheat and 2kg rice is Rs. 60. The cost of 2kg onion, 4kg wheat and [5]
6kg rice is Rs. 90. The cost of 6kg onion 2kg wheat and 3kg rice is Rs. 70. Find the cost of each
item per kg by matrix method.

OR
2 -3 5
IfA= |3 2 —4/| find Al using Al solve the system of equations
1 1 =2
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2x -3y + 5z = 11;

3x + 2y -4z =-5;
X+y-2z=-3.
[5]
- (321}
. Integrate w. . to x.
5 G- (x-2)(x-3)
OR
T
Evaluate fﬂ log(1 + cos x) d‘xl

38. A window is in the form of a rectangle surmounted by a semi-circular opening. The total [5]1

perimeter of the window is 10 meters. Find the dimensions of the window to admit the
maximum light through the whole opening.

OR
Show that the altitude of the right circular cone of maximum volume that can be inscribed in a
sphere of radius r is 4r/3.
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Solution
Class 12 - Mathematics

Confidence Examination-I (2020-21)
Part - A Section -1

1. To show: f: R — R : : f(x) = x° is one - one and onto.
Proof:

f(x) = x°

=y=x°

Since the lines do not cut the curve in 2 equal valued points of y, therefore, the function f(x) is one - one.

The range of f(x) = (-00, 00) = R(Codomain)

.. f(x) is onto

Hence, showed f: R — R : f(x) = x° is one - one and onto.
OR

We have, f(x) = x - [x]={x} (fractinal part of x)

Injection test:

fx)=0forallx e Z

So, fis a many-one function.

Surjection test:

Range (f) = [0, 1) # R.

So, fis an into function.

Therefore, f is neither one-one nor onto.

2. Given that R is the equivalence relation in the set A = {0, 1, 2, 3, 4, 5} defined as R = {(a, b): 2 divides (a - b)}.

Clearly, [0] ={b € A: (0,b) € R}

={b € A. 2 divides (0- b)}

={b € A:2divides (-b)}

={0, 2, 4}

Hence equivalence class of [0] = {0, 2, 4}.
OR

Itis given that R = {(x, y) : x is father of y}

= (x,X) € R as x cannot be the father of himself.

= Ris not reflexive.

Now, if (x,y) € R, then x is the father of y.

= But y is not father of x.

= (X)) € R

= Ris not symmetric.

Now, let (x,y), (y,z) € R

= x is the father of y and y is the father of z.

= X is not the father of z.

= Indeed x is the grandfather of z.

= (x,2) € R

= Ris not transitive.

Therefore, R is neither reflexive, nor symmetric, nor transitive.
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3.f:Z — Z: f(x) = x3is one - one into
f(x) = x3
Since the function f(x) is monotonically increasing from the domain Z — Z
.". f(x) is one -one
Range of f(x) = (- 00,00) 7& Z(codomain)
.. f(x) is into

. f:Z— 7 :f(x) = x3is one - one into.

7
-

|

1 1
4. Let us take matrices , A = ll 1} and B = l

1

1 1 1 -1 1-1 —-1+1 00
But, AB = = = =0
1 1 -1 1 1-1 —-1+1 00
1 -1 1 1 1-1 1-1 00
and, BA == = = =0
-1 1 1 1 -14+1 —-1+1 00

ail a2

_” , then A#0, B#£0.

5.Here, A =[ajlox2=| =~ | e 1
, az1 a2
i—2j
aj = ( 2])
1-2(1))? 1-2(2))?
311:( 2( ) :%,312:( 2( ) :%
2 2
a1 = (2—22(1)) =0, a5 = 2-2(2)) =9
Using equation (i)
19
A= 2 2
0 2
OR
0 a b
Wehave, A= | —a 0 ¢
-b —¢c 0
0 —a -0
=A'=|a 0 —c
b ¢ 0
0 a b
=A'=—-|-a 0 c
-b —c 0

= A =—A

Hence, (A) is a skew symmetric.
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6.

10.

11.

For the given system of equations, we have

2 1 3 1
D= =0and Dy = =1#0
5 2
Thus, we have D = 0 and Dq 7é 0. So, the given system is inconsistent.
_ dz
.LetI=[ N rr

_ j‘ dz

\/1-(z—1)*
Put x-1=t. Then dx = dt.
Therefore, [

dx . dt oata—1
N =f W =sin ' (¢)+ C

=sinl (x-1) + C

OR

Nz
:5f;c3da:+2fa;_5d:1:—7f:1:dm+fac7daf;+5f%d:1:
1

f<5m3+2m’5—7w+%+%)da:

4 —4 2
=5-2 42 (””_4) —7-%+E”TZ)+5log|x|
2
= E’T““A — ﬁ — 72i2 + 24/x +5log |x| + C,where C is constant of integration.

. We have to find the area of the region bounded by the curvesy = |x- 2|, x =1, x = 3 and the x-axis.

Required area =f12 (2 — z)dz + f;’ (x — 2)dz
= [2$—x2]i + [=% - 2:0]2
=[(4-49-2-D]1+[9-6)-4-49]=-1+3=2

y=x-2

y=2-%

2

. Itis given that equation is y” + 2y’ + siny = 0

We can see that the highest order derivative present in the differential is y”.
Thus, its order is two. It is polynomial equation in y” and y’
So, the highest power raised to y” is 1
Therefore, its degree is one.
OR
dy 1—y?

dr — ~ V 1-22

dy . —dx
f VI f V1-a?
sin! (y') +sin"! (z) = ¢
Cross product of vectors a and b is given by :-

~ ~

I A k . A~ .
axb=|9 1 3 |=—171+135+ 7k
3 5 —2
_>
.| x b|=+/280F 169+ 49 = /507
We have,

G=%1+2jandb=27 +j

cla=vIF¥4-+band|b|=vAF+1-5
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12.

13.

14.
15.
16.

17.
18.

19.

20.

So, [a| = [B]

But, given vectors are not equal as their corresponding components are not equal.

Given,

la| = +/3,|p| = 2and a.b = v/6
a.b

afb

cosf =

Direction ratios of line joining A and B are
1-2,-2-3,3+4)i.e.,-1,-5,7.

The direction ratios of line joining B and C are
(3-1,8 +2,-11- 3), i.e., 2, 10, - 14.

It is clear that direction ratios of AB and BC are proportional, hence, AB is parallel to BC. But point B is
common to both AB and BC. Therefore, A, B, C are collinear points.

Section - II

Part - B Section - I1I

We have to show that,

tan~! (%) = ltan! ( 12)
LHS = tan! (2)
Dividing and multiplying by 2,

= Hotan 1(2))

= %{tanl( 2<E)2> }{SinceZtan‘lx=tan‘1 (
)

%tan:l (% X %)

ytan~! ()
tan(2) = tan ! (2)
We have given that,
ar( AABC) = 3 sq units .

1 3 1 1 3 1
&30 0 1|=43&]0 0 1|=x+6
kE 0 1 E 0 1
@(—1)~'; 3‘:i6<:>3k:i6<:>k:i2

Hence, k = +2
Here,
2z 1
Al=10 2 1
3 1 14

Expanding along the first row

2z
1—22

OR

)
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21.

22.

23.

Al = a?

2 1 0 1 0 2
1 4] "|3 4|73 1‘
=x2(2 X 4-1X1)-X(O0X4-1x3)+1(0 x 1-2 X 3)
=x%(8-1)-x(0-3) + 1(0 - 6)

=7x%+3x-6

Also |A| =

= 7x%+3x-6=28

= 7x%+3x-34=0

= 7x%+17x-14x-34=0

= xX(7x +17)-2(7x+17) =0

= Xx-2)(7x+17)=0
x=2,- 17

Integer Value ofxis 2

‘—i—l

We have,y = (x - 3)2, which is continuous in x1=3and xy =4 1i.e,, [3, 4]

Also,y' = 2(z — 3) -1 = 2(z — 3) which exists in (3, 4)

Hence, by mean value theorem, there exists a point on the curve at which tangent drawn is parallel to the
chord joining the points (3, 0) and (4, 1).

Thus, f'(c) = —f(4i:§(3)

2 2
—2(c—3)= %
=2 —6=10=c= %

Forz = 5,y = (— -9 = (1) =1

So, ( 5 }1 ) is the point on the curve at which tangent drawn is parallel to the chord joining the points (3, 0)
and (4, 1).

Let f(x) = 3x* - 8x3 + 12x% - 48 + 1. Then,

f(x) = 12x3 - 24x% + 24x - 48 and "(x) = 36x2 - 48x + 24

The critical points of f'(x) are given by f'(x) = 0.

Now, f'(X) =0

= 12x3 -24x% + 24x-48 = 0
=x3-2x2+2x-4=0=>x2(x-2)+2(x-2)=0= (x-2) ®®+2)=0=>x=2 [ 2® + 2 # 0]

The values of f(x) at critical points and at the end - points of the interval are computed as follows:
f(2) =-59, f(1) = -40 and f(4) = 257.

Of these values the largest and the smallest values are f(4) = 257 and f(2) = -59.

So, the minimum and maximum values of f(x) on[1, 4] are -59 and 257 respectively.

cosT
f 1+cosz dx

f 1+4+cosz— 1

- 1+4cosz

o f l1t+cosz 1
- 1+cosz 1+coszx

dz

2cos? < 5

_f(l_

As 2cos2g =14 cos@

= [1dz — %fsec2%dw

tan = tan(az+b)

=z— 3 = +c [ [sec® (ax + b)de = —— + ¢
=x— tan% +c

OR
Let] = fo =
I= f() 1+a:2

We know that
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24.

25.

26.

de 1 -1z
e = —tan™" — +c

Therefore,
I= [tan_l w] (1]
=tan'l(1) - tan'1(0) = -0

s

fO 1+1;2 - %

x :E
FrE
(a O] A
 [=[°
\_ |
x2 +y? = a2
a
==
"
=2[5% v/a®— 22
%
a
=25Vt ety g
i
— 7T_ _ a_2 ma®
—9 [(o+ ) - (£ + 2]
_ ma®  a?
=2 [ 8 4
= 4 - = squmts
We have, y =ceP" T (i)
Differentiating both sides of (i) with respect to x, we get
@ _ o tanlgz 1 s
7, — C¢ e (i)
Differentiating both sides of (ii) with respect to x, we get
@ _ (1+I2)etm712j_ tan 11(21)
@ C (1+22)?
dzy . etan’1172wetan’1z
@ - ey
d2y (1 21.) tan~!
= =c——— —
dz? (1+22)?
2 -1,
= (1+2?) 2L —c(1—2:1:)( =
= (1+a ) y =(1- 2:(:) ...[Using eqation (ii)]

= (1+2? )Eﬂzx—l)azo

Hence, the given function is the solution to the given differential equation.

Let ABC be a triangle such that

— L, — —> —
BC = a,CA= b and AB= c .Then,
= L = = —
a+ b+ c=BC+CA+ AB
R T T e S S
= a+ b+ ¢ =BA+ AB[. BC +CA= BA]
= L =
= a + b + ¢ = BB [By triangle law]
5o
= a + b + ¢ = 0 [By definition of null vector]
Therefore,
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28. We are given that,
P( husband will be selected ) = P(A) =
P( wife will be selected ) = P(B) = +
P( only one of them will be selected )= P(A)P(B) + P(A)P(B)
SH1- 1)+ H- )

-4 , 6
_35+35
- 10
35
=2
7

1
7

OR
Let n and p be the parameters of binomial distribution. Then,we are given that,
mean=np=>5.... (1)
Variance =npq =4 .... (ii)
Dividing equation (ii) by (i),

hpg 4

np b
4

9= =
1

pP=z [Sincep+q=1)
Put the value of p in equation (i),we get,

np=35
1y
n(3)=35
n=25
Number of trials = 25
Section - IV
1,ifx>0
29. Signum Function f: R — R, givenby f(z) = ¢ 0, ifz =0
-1, ifx<0

fn=12)=1

Two distinct elements have same image.

.. fis not one-one.

Except -1, 0, 1 no other members of co-domain of f has any pre-image its domain.
.". fis not onto.

Therefore, f is neither one-one nor onto.
2

30. Note: y, represents second order derivative i.e., ZT‘Z and yq = dy/dx
Given,
y=¢tan T ()
To prove: (1 +x2) yy + (2x-1) y1 =0
To find the above we will do the double differentiation of the given function
2
w it = ()

So, lets first find dy/dx
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31.

dy _ d etan’1 z

dx dz

Using chain rule we will differentiate the above expression
1

Lett=tanlx = 4 —
dz

1+22
4 -1, _1
[dm tan™ "z = a2
Andy = el
dy _ dy gt
dz — dt dz B
dy ¢ 1 . eta.n T
ar ~ € 1+a? 1422 -..(11)
Again differentiating with respect to x applying product rule:
d2

ay _ tan'x d 1 1 d _tan'x
dXZ_e dx(l+x2>+1+x2 ax ©

Using chain rule we will differentiate the above expression-

Ly _ (emr ) _ 2z [using equation (ii); —(ac”) =nz" & d —tan~'z = —]
da? (1Jr:cz)2 (1422)? 1422
y o etan71 z . 2metan7 T
(1 T ) - 1+m 1422
y o tan™ " x
(1+2?) 2L = 37(1—233)
Using equatlon (i)
Ly dy
(1+2?) 4 = 2£(1 - 2z)
L(A+x3) Y+ (2x-1)y1=0
Hence proved
Lety=u+v, where u=(x)¥and v = (cos x)Sinx
Now, u = (x)¢0s X
= log u = (cos x)(log x)
1 du _ d
= w5 = (cosz) - ~(logz) + (logz) - - (cos x) [on differentiating w.r.t. x]
= (cosz) - L + (log x)(-sin x)
= % =u- { 5% _ (log x)(sin X)}
= U - (x)COS X { 2L (Jog X)(sin X)} ......(D)
And, v = (cos x)SIn X
= log v = (sin x) log (cos x)
=1. % = (sinz) - %{l.og(cos z)} +log(cosz) - %(sin z) [on differentiating w.r.t. x]
= (‘Z =v- {(sma:) . % +log (cos X) - cos X}
= % = (cos x)S'" X . {-sin X tan X + cos X - log (cos X)} ....(ii)
ny=@=v)
dy _du dv
jg—a dz
= d—i/ = (X)X {Z2Z - (log x)(sin x)} + (cos X)¥" X - {-sin X tan X + cos X - log (cos X)}

OR

Given, xsin(a+y) +sinacos(a+y) =0
— sina cos(a+y)

- r= sin(a+y)

On differentiating both sides w.r.t y,we get

dz [sin(aer) diy {sina cos(a+y)}—sina cos(a+y) diy {sin(a+y)}] ) ) o
W = aty) ...[ By using quotient rule of derivative]

. { sin(a+y)-sin a sin(a+y)+sina cos(a+y) cos(a+y) }
sin® (a+y)

— sina
sin? (a+y)

= ﬁ-l[','smzﬁ—l—cosz@: 1}

{sin(a + y) + cos(a + y)}

8/12



32.

33.

34.

dy sin®(a+y)
s dz sina
Hence Proved.
We have, f(z) = %m‘l — 423 — 452 + 51
= f(x) = 6x° — 12x% — 90X
= f(x) = 6x(x2 - 2x — 15)
= f(x) = 6x(x2 - 5% + 3x — 15)
= f’'(X) = 6x(xX-5)X + 3)
For f(x) to be increasing, we must have
=fx)>0
= 6xxX-5)x+3)>0
= xXxX-5)x+3)>0
= -3<x<0o0or5<x<o0o
= x € (-3,00U(5, 00)
Therefore, f(x) is increasing on interval (-3,0)U(5, 00)
Now, for f(x) to be decreasing, we must have
x)<0
= 6xXxX-5)x+3)>0
= xxX-5)x+3)>0
= -00<xX<-30r0<x<o0
= X € (-00, -3)U(0, 5)
Therefore f(x) is decreasing on interval (—oo, -3)U(0, 5)
Letl= f cot® x dx
=1= f cot? x cot3x dx
= 1= [ (cosec®x - 1) cot’x dx
= 1= [ cot®x cosec’x dx - [ cot3x dx
= 1= [ cot®x cosec’x dx - [ (cosec?x - 1) cot x dx
= 1= [ cot®x cosec’x dx - [ (cosec?x cot x) dx + [ cotx dx
Let cot X = t, then -cosec?x dx = dt
=1=-[dt+ [tdt+ [ cotxdx

_ £ :
:>I——Z+3+log|smx| +C

4 2
=1= ——COZ L+ —°°t2 ~ +]og |sinx| +c
4 2
Therefore, [ cot’x dx = — COth + COtT‘” +log |sin x| + ¢ Hence the solution
The equation of given curve is y = /a? — z2
Required area = the area under the curve y = 1/a? — x2 between the lines x=0 and x=a
= [y ydz

=[5 Va2 —z?da

put x=a sinf ,then dx= a cos 6 df
when x=0, asinf = 0,

sinf =0

0=0

when x= a ,asin 6 =a

sin 6=1

05

I = fow/z v a2 — a?sin?0.acosf do

= a? Oﬂ/z cos%6 db
a® /2 2
=< 2 cos“6 db
= %2 0”/2(1 + cos 26)d0
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35.

a? sin26 /2
2o+ 4]

a2 T . .
=3 (5 + $sinm) — (0+ S sin0)]
=[G +0)-(0-0)]
= %‘2 sq.units

OR
Equation of one line [; is 2x +y = 4,
Equation of second line /3 is 3x - 2y = 6
And Equation of third line I3 isx -3y +5=0

Here, vertices of triangle ABC are A (2, 0), B (4, 3) and C (1, 2).
Now, Required area of triangle

= Area of trapezium CLMB - Area ANACM - Area NABL
4 2 4

[z +5)de| — |[ (4 22)de| — |[2(z — 2)de

2
1 1
1132 4
(5 +52),

_3
2

; (- 2) [ 1](5 o),
= 3[8+20— (3 +5)] {8~ 4~ (4= 1)) ~3(8-8)~ (2~ 9)

_ 11 3

=+(28-4)-(4-3) -5 x2
1, 45

CE T

=5 —1—-3= 7 sq.units

Let P be the population at any time t and Py be the initial population.Then,we have,

dp
7 x P

dP __
:>E—)\P

dP
:>?—)\dt

= [L =\[dt
=logP=MX+c..(1)
Here, P =Pgt whent=0
log(Py) =0+c
= log(r%) = At ...2)

Given P = 2Py when t = 25
2R\ _

10g< 7 ) = 25\

= log 2 =25\

log 2
= A= —

= Now equation ( 2) becomes,

P log 2
o () = (%)

let t1 be the time to become population 500000 from 100000, so, that,
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log () = 5t
— it = 25logh
log 2
25(1.609
= b = T =58
Required time = 58 years.
Section -V
36. Let cost of 1kg onion = x
cost of 1kg wheat =y
cost of 1kg rise = z
By the question ,we have,
4x + 3y +22=60
2x +4y + 62 =90
6x+2y+3z2=70
4 3 2] 60 T
A= 4 6|B=|90|X= ]y
6 2 3] 70 z
4 3 2
|A|=12 4 6|=50#0
6 2 3
NO’U),A11 = 0,A12 = 30,A13 = -20
A = —5,A2 = 0,423 = 10
Az = 10,A30 = —20,A33 = 10
0 -5 10
s.adjA= ] 30 0 -20
—-20 10 10
0 -5 10
A7l = ‘}T(ade) =313 0 -2
—-20 10 10
X=A"'B
x 5
z 8
x=5,y=8,2z=8
OR
2 -3 5
We have, |A|=|3 2 —4
1 1 -2
=2[-4+4]+3[-6+4]+5[3-2]=0+3(-2)+5(1)=-6+5=-1%£ 0
.. Al exists

Now, A11 =0, A12 =2, A13 =1
A1 =-1,A22=-9,Ap3=-5
A31 = 2, Agz = 23, A33 =13

0 -1 2
cadjA= |2 -9 23
1 -5 13
o AT = 2 (adjA)
0 -1 2
=112 -9 23
1 -5 13
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37. -

38. -

2

0O 1 -2
-2 9 =23
-1 5 —-13

-3 5

2 -4

5 =2

2 -3
=13 2
1 5

0O 1 -2
-2 9 =23
-1 5 —-13

1
=12
3

Z

)
z

11
-5
3
11
-5

The given system of equation can be written is Ax = B, X = A'1B

replace column matrix of RHS by

OR

OR

11
-5
3
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Time Allowed: 3 hours

ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 12 - BIOLOGY
Confidence Examination -I2020-21)

General Instructions:

= w e

© ®© N o

10.

11.

1. All questions are compulsory.

Maximum Marks: 70

2. The question paper has four sections: Section A, Section B, Section C and Section D. There are 33

questions in the question paper.
3. Section-A has 14 questions of 1 mark each and 02 case-based questions. Section-B has 9
questions of 2 marks each. Section-C has 5 questions of 3 marks each and Section-D has 3

questions of 5 marks each.

4. There is no overall choice. However, internal choices have been provided in some questions. A

student has to attempt only one of the alternatives in such questions.
5. Wherever necessary, neat and properly labeled diagrams should be drawn.

Section A
The human testes are located outside the abdominal cavity. (give reason)
Spermatozoa get nutrition from Sertoli cells. (True/False)
Why in a test cross, did Mendel cross a tall pea plant with a dwarf pea plant only?
Suggest any two contraceptive methods which are very effective to avoid emergency
pregnancy.
What do “Eco”, “R” and “I” refer to in the enzyme EcoRI?
Who had proposed the chromosomal theory of inheritance?
Define multiple allelism.
How are diseases transmitted from the reservoir of infection to a healthy person?
What do you mean by palindromic sequence ?

Bottled fruit juices brought from the market are clearer as compared to those made at home.

(give reason)

Assertion: An organism with a lethal mutation may not even develop beyond the zygote
stage.

Reason: All types of gene mutations are lethal.

a) The assertion is a true statement but b) Both assertion and reason are true
the reason is false. and the reason is the correct
explanation of the assertion.

c) Both assertion and reason are true d) Both assertion and reason are false.
but the reason is not the correct

explanation of the assertion.

[1]
[1]
[1]
[1]

[1]
[1]
[1]
[1]
[1]
[1]

[1]
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12.

13.

14.

15.

OR

Assertion: Turner’s syndrome is caused due to the absence of one X chromosomes.

Reason: The female suffering from the turner’s syndrome is sterile as ovaries are rudimentary

along with other secondary sexual characters.

a) Both assertion and reason are b) The assertion is incorrect but the
correct reason is correct

¢) Both assertion and reason are d) The assertion is correct but the
incorrect reason is incorrect

Assertion: Many visitors to the hills suffer from skin and respiratory allergy problems.

Reason: Conifer trees produce a large quantity of wind-borne pollen grains.

a) Both Assertion and Reason are true b) Both Assertion and Reason are true
and the Reason is the correct and the Reason is not the correct
explanation of the Assertion explanation of the Assertion

c) Assertion is true statement but d) Both Assertion and Reason are false

reason is false

Assertion: Replication and transcription occur in the nucleus but translation occurs in the
cytoplasm.
Reason: mRNA is transferred from the nucleus into the cytoplasm where ribosomes and

amino acids are available for protein synthesis.

a) Both Assertion and Reason are true b) Both Assertion and Reason are true

c) Assertion is true, but Reason is false d) Both Assertion and Reason are false

Assertion: There is a statutory ban amniocentesis on sex determination in India.

Reason: Amniocentesis is used to determine sex of foetus for female foeticide.

a) A. Assertion is incorrect but reason is b) B.Assertion is correct but reason is
correct incorrect
c¢) C.Both assertion and reason are d) D.Both assertion and reason are
incorrect correct

Large quantities of sewage is generated everyday in cities and towns,which is treated in
Sewage Treatment plants ( STPs ) to make it less polluted,

Given below

is the flow diagram of one of the stages of STP.
Observe the given flow diagram and answer the questions accordingly
Primary effluent is passed into large aeration tank.
l
l
Effluent passed into settling tank to form the sediment.
a. Why primary effluent is passed into large aeration tanks ?
b. Write the technical term used for the sediment formed ?
c.Write down the signifiicance of the above sediments formed.

[1]

[1]

[1]

[4]
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16.

d. Explain the final step that results in the formation of biogas in the large tank before the

treated effluent is released into water bodies.

e.The techno,logy of biogas production from cow dung was developed in India largely due to

the efforts of

Read the following and answer any four questions:

In angiosperm, the seed is the final product of sexual reproduction. It is described as a
fertilized ovule. The seeds are formed inside the fruit. The seed consists of a seed coat,
cotyledon, and the embryo axis. A mature seed is usually non - albuminous or albuminous.
Integument of ovules harder as tough protective seed coat. Sometimes due to reduced water
content, the general metabolic activity of the seed slows down and the seed enters a state of
inactivity. In the mature plant, the fruit develops from the ovary they are called true fruit. The

fruit is the result of fertilization. There are a few species in which fruit develop without

fertilization banana is such an example
i. Which of the following have non-albuminous seed?
a. Sunflower
b. Groundnut
c. Maize

d. Barley

ii. The entry of oxygen and water in the seed during germination:

a. micropyle
b. chalazal
c. epicotyl
d. hypocotyl
iii. The embryo enters the state of inactivity called:
a. pericarp
b. dormancy
C. apomixis
d. none of these
iv. The wall of the ovary develops into the wall of fruit called:
a. scutellum
b. pericarp
c. plumule

d. radicle

v. The figure given below represent

a. true fruit
b. parthenocarpic fruit

[4]
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17.

18.

19.

20.

21.
22.

23.
24.
25.

c. false fruit of apple
d. false fruit of strawberry
Section B
In the table given below, select and enter one correct device out of the following: Oral pill,
Condom, Copper T, Saheli, Vasectomy, Diaphragm, Tubectomy, Cervical cap

Method of Birth Control |Device

1. Barrier

2.1UD

3. Surgical Technique

4. Administering Hormones

When a red flowered. Antirrhinum plant was crossed with a white flowered Antirrhinum
plant, the F offspring had pink flowers. Mention (a) the genotype of F} plant, and (b) the
reason why it did not bear the parental red or white flower colours?

Arrange them sequentially according to how they appear in the artificial
hybridization programme.

1. Rebagging

2. Selection of parents

3. Bagging

4. Dusting the pollen on the stigma

5. Emasculation

6. Collection of pollen
Explain the events which occur after the process of fertilization in plants.

OR

[2]

[2]

[2]

[2]

Why is it that the generative cell of 2-celled pollen divides in a pollen tube and not of 3-celled

pollen?
What do you understand by the antiparallel arrangement of DNA strands?
A recombinant vector with a gene of interest inserted within the gene of a- galactosidase

enzyme, is introduced into a bacterium. Explain the method that would help in selection of

recombinant colonies from non recombinant ones.
OR
Give the technical terms for the following:
(1) Molecular scissors
(2) Molecular sieve
(3) Molecular glue
(4) Autonomous replicating circular DNA
(5) First isolated restriction endonuclease
(6) Extraction of DNA fragments from gel
Lactational amenorrhea is a contraceptive method. List two advantages.
Write the chemical nature of biogas. Name one organism which produces biogas.

How is active immunity different from passive immunity?

[2]
[2]

[2]
[2]
[2]
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26.

27.

28.

29.

30.

31

32.

33.

Section C
Study the pedigree chart given below, showing the inheritance pattern of blood groups in a 3]

family and answer the given questions.

E—®

3 7

b B om0

9 10 ! 12 13

1. Give the possible genotypes of the individuals 1 and 2.
ii. Which antigen will be present on the plasma membrane of RBCs of individuals 5 and 9?
iii. Give the genotypes of the individuals 3 and 4.

Why is it essential that tRNA binds to both an amino acid and an mRNA codon during protein  [3]
synthesis?

Differentiate between vaccination and immunization. Describe the two types of vaccines with  [3]
suitable examples?

A3'.....5'BC5'....... 3D [3]
AB and CD represent two strands of a DNA molecule. When this molecule undergoes

replication, forming a replication fork between A and C in the above.

(i) Name the template strand for replication

(ii) Using which strand as the template, will there be continuous synthesis of a complementary
DNA strand.

(iii) Complementary to which strand will okazaki segments get synthesized, discontinuous
synthesis occurs.

(iv) What are template strands and Okazaki pieces?

(v) In which direction is a new strand synthesized?

Name the toxin responsible for the appearance of symptoms of malaria in humans. Why do 3]

these symptoms occur periodically?

OR
What are the symptoms of cancer?
Section D
Explain the process of fertilization of an ovum in humans. Trace the events that occur after [5]1

fertilisation up to the implantation of the blastocyst.
OR

Describe the post-zygotic events leading to implantation and placenta formation in humans.

Mention any two functions of placenta.

What are the applications of Recombinant DNA technology? [5]1
OR

i. Why must a cell be made ‘competent’ in biotechnology experiments? How does calcium ion
help in doing so?

ii. State the role of ‘biolistic gun’ in biotechnology experiments.

Describe the process of secondary treatment given to municipal wastewater (sewage) before it [5]

can be released into fresh water bodies. Mention another benefit provided by this process.
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OR
Explain the process of sewage water treatment before it can be discharged into natural water

bodies. Why is this treatment essential?
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Solution
Class 12 - Biology

Confidence Examination - I 2020-21)

Section A

1. A pair of testis is placed in a structure called as scrotum which is located outside the abdominal cavity.
Scrotum which distends below from abdominal region to maintain low temperature. Low temperature
favours the formation of sperms in the testes by the process of spermatogenesis. Testes also secrete the
hormone testosterone.

. True; The immature sperms or the spermatozoa embed their head into the wall of the sertoli cells. Sertoli
cells nourish the young sperm cells with nutrients and blood products.

. To know the genotype whether it is homozygous or heterozygous for the dominant trait.

. Oral pills and IUDs. They may be administered within 72 hours of coitus.

DN

. Sutton and Boveri.
. When more than two alternative forms of a gene are present on the same locus it is said to exhibit multiple
allelism.
8. The transmission of diseases can occur in two ways:
o The direct transmission which includes contact with an infected person, droplet infection, contact with
the soil and bite of an animal.
o Indirect transmission by vectors, vehicle-borne, air-borne, fomite borne and unclean hands.

N oUW

10. The fruit juices available in the market (the bottled ones) are made clarified by treating them with the
enzymes - pectinases and proteases. So, they are clearer as compare to those made at home.

11. (@) The assertion is a true statement but the reason is false.
Explanation: An organism with the lethal mutation may not even develop beyond the zygote stage due to
change in the gene but all kinds of mutations are not lethal. The mutation is the main source of variation
essential for evolution.

OR

(a) Both assertion and reason are correct

Explanation: Turner’s syndrome is caused due to the absence of one X chromosomes.

The female suffering from the turner’s syndrome is sterile as ovaries are rudimentary along with other
secondary sexual characters.

12.  (a) Both Assertion and Reason are true and the Reason is the correct explanation of the Assertion
Explanation: Skin and respiratory allergy problems arise in hilly areas due to allergen present in these
areas. Allergen induce inflammatory reaction in the body.

13.  (a) Both Assertion and Reason are true
Explanation: Synthesis of RNA from DNA is called transcription and it occurs in the nucleus of eukaryotic
cells.
DNA replication occurs in the cytoplasm of prokaryotes and in the nucleus of eukaryotes. Regardless of
where DNA replication occurs, the basic process is the same.
Synthesis of protein from RNA is called translation and it occurs in the cytoplasm of eukaryotic cells.
Messenger RNA (mRNA) is a molecule in cells that carries codes from the DNA in the nucleus to the sites of
protein synthesis in the cytoplasm (ribosome) where they can be joined together in specific order to make
a specific protein.

14. (d) D.Both assertion and reason are correct
Explanation:

15.

16. 1. (b) groundnut
ii. (@) micropyle

iii. (b) dormancy
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17.

18.
19.

20.

21.

22.

23.
24.

25.

26.

27.

28.

iv. (b) pericarp
v. (d) false fruit of strawberry

Section B
Method of Birth Control Device
1. Barrier - Condom, Diaphragm, Cervical cap
2.1UD - Copper T
3. Surgical Technique - Vasectomy, Tubectomy
4. Hormonal administrations - | Oral pill, Saheli.

(a) Rr (presuming parents had genotypes (RR) and (rr))
(b) It shows incomplete dominance.

OR

The two DNA strands run parallel to each other but in opposite direction. In one chain the direction is
5" — 3’ while in the other one it is 3’ — 5’
The method is based on colour reaction (blue - white selection). The o galctosidase enzyme can cleave a
colourless, synthetic substrate, X-gal into a blue coloured product if the gene is inactivated by insertion of
gene of interest into it, the development of blue colour will be prevented.
OR
(1) Restriction endonucleases
(2) Agarose gel
(3) DNA - ligase
(4) Plasmid
(5) Hindi II
(6) Elution

Active Immunity Passive Immunity

Produced by the immune system actively Produced by the immune system passively
Antibodies are produced by immunogens Antibodies are transferred not produced
It involves antigens Involves antibodies

It is durable It is transient

Natural active immunity is by clinical Natural passive immunity is by transfer of antibodies through the
infection placenta

Section C
i.1—1I5
ii. 5 has antigen A and B 9 has no antigen
iii. 3- IP4
4 — JTA4
tRNA is an adaptor molecule, which is meant for transferring amino acids to ribosomes for synthesis of

polypeptides. tRNAs carry specific amino acids at particular points during polypeptide synthesis as per
codons of mRNA, and the codons are recognized by anticodons of tRNAs. Thus, the coded information from
DNA is translated by bringing amino acids in a particular sequence.

Vaccination is the phenomenon of injection of killed or inactivated microbe to trigger the immune system to
produce antibodies against a particular disease. Vaccination is the process of administering vaccines.
Diseases can be prevented by vaccination. During vaccination inactivated or weakened microbes called as
vaccines are introduced into the body. They trigger the production of antibodies. When disease-carrying
microbes enter our body, self-protecting proteins called antibodies fight against the invader.
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29.

30.

31

Immunisation is the protection of individuals from communicable diseases by administration of a
suspension of dead micro-organisms. This is the stimulation of immune system in the body to produce
memory cells which further can detect disease causing pathogens and immediately eliminate them before
causing the disease.
Generally vaccines are of two types:
(a) Attenuated Vaccines: They are prepared from live organisms (generally pathogen is made weak to make
it non virulent).
Examples : BCG and influenza vaccine.
(b) Killed Vaccines: They are prepared by Kkilling the pathogenic organisms by heat or UV rays.
Examples: Polio and Rabies vaccines.
(i) ABand CD
(ii) AB strand
(iii) CD strand
(iv) The strands which dictates the sequence of the new strand, is the template strand. Okazaki pieces are
short stretches of DNA synthesized in the 5> — 3 direction on discontinuous strand.
(v) In 5’ — 3 direction.
Haemozoin (toxin)is responsible for the appearance of symptoms of malaria.
Haemozoin is released when the RBCs rupture and release the pathogen.
Some cells of the pathogens enter fresh RBCs and reproduce asexually and repeat the cycle hence the
symptoms appear periodically.

OR
The possible symptoms of cancer are as follows:

i. Non-injury bleeding from any body surface i.e., skin, mouth or any other opening.
ii. A lump or hard tissue in the breast.
iii. Persistent indigestion or difficulty in swallowing.
iv. Persistent changes in digestive or bowel habits.
v. Progressive change in the colour of a wart or mole.

vi. Persistent hoarseness or cough.

vii. Excessive loss of blood in menses in women or loss of blood outside the normal date.
viii. A swollen or sore throat which does not heal easily.
ix. Unexplained loss of weight.

X. Unexplained low-grade fever.
xi. Unexplained reduction or loss of appetite.

Section D

Fertilisation: Fertilisation occurs if the ovum and sperms are transported simultaneously to the ampullary-
isthmic junction and involve the fusion of sperm with an ovum.
Secretions of the acrosome of sperm help it to enter into the cytoplasm of the ovum through zona PcMucida
and the plasma membrane. It induces meiotic Division-II to form haploid ovum (ootid) and a secondary polar
body. The fusion of sperm with the ovum to form diploid zygote is called fertilisation.
Implantation: Zygote undergoes cleavage to form a solid mass of 16 Cells-morula, with daughter cells called
blastomeres. Morula develops into an embryo with about 64 cells and with a cavity called blastocoel and the
embryo is termed as the blastocyst. It consists of an outer layer of cells-trophoblast and inner cell mass.

LT

(&) “ﬂ lO'J (Mcrula)

Blastocyst
implantation

{f.l {Blaalocysn
(@
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Figure: Events that occur after fertilisation up to the implantation of the blastocyst
The trophoblast gets attached to the endometrium-uterine wall of mother, after 7 days of fertilisation by a
process called implantation leading to pregnancy- The uterine cells divide rapidly and cover blastocyst. The
blastocyst gets embedded in the endometrium. Inner cell mass forms embryo.
OR
Post-zygotic events leading to implantation and placenta formation are as follows:
1. Fertilisation is the process of fusion of a sperm with an ovum.

a. The motile sperms move through the cervix, enter the uterus and reach the junction of the isthmus and
ampulla (ampullary-isthmic junction) of the Fallopian tube.

b. The ovum released from the ovary also reaches the ampullary-isthmic junction, where fertilisation
takes place.

c. Fertilisation can only occur if the ovum and sperms are transported simultaneously to this junction.
This explains why all copulations do not lead to fertilisation and pregnancy.

d. The sperm comes in contact with the zona pellucida of the ovum and induces changes in the
membrane, which blocks the entry of the other sperms. Thus, it ensures that only one sperm can
fertilise an ovum, i.e. secondary oocyte.

e. The diagrammatic view of the matured secondary oocyte-

Mature ovum (ovulated secondary oocyte)

Meiotic spindle

Secondary cocyle

ii. The placenta is an organ that connects the developing foetus to the uterine wall for supporting pregnancy.
After implantation, finger-like projections appear on the trophoblast called chorionic villi, which are
surrounded by the uterine tissue and maternal blood. The chorionic villi and the uterine tissue become
interdigitated with each other and jointly form a structural and functional unit between foetus and
maternal body, i.e. placenta.

Functions of Placenta
a. It facilitates the supply of oxygen and nutrients to the embryo.
b. It also facilitates the removal of carbon dioxide and waste materials produced by the foetus.

32. Applications of Recombinant DNA Technology are as follows:

i. Study of Molecular Events: The technology is used in the study of molecular events of various
development stages like cellular differentiation, morphogenesis, ageing, etc.
ii. Gene Maps: Recombinant DNA technology can be employed to make gene maps.

iii. Development Stages: A development stage can be stopped, delayed or quickened through manipulation
of genes. Mutation of ageing genes in roundworms has shown an increase in the life of the animals by
four times.

iv. Antisense Therapy: Extra-activity of genes of a particular region can be checked by introducing specific
DNA fragments. The treatment is called antisense therapy.

v. Foods with Extra Biochemicals: With the help of Agrobacterium tumefaciens and viruses, genes for
synthesis of various biochemicals can be introduced in plants e.g., Bananas producing vaccines.

vi. Study of Defective Genes: The technique can be used in the study of defective genes in the foetus stage.

vii. Tailor-Made Organisms: Useful plants, animals and microbes can be tailor-made to suit varied human
needs.
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viii. Medical Diagnosis of Diseases: Short segments of single-stranded DNA with attached fluorescent or
radioactive marker are being used as probes for identification of infectious diseases like hepatitis, HIV,
cystic fibrosis, muscular dystrophy, etc.

OR

i. Since, DNA molecules are hydrophilic, they cannot pass through cell membranes. For recombinant DNA to
be integrated into the vector or host genome, it is necessary for the DNA to be inserted in the cell.
Therefore, making the host cells competent is necessary for biotechnology experiments.

The two ways by which cells can be made competent to take up DNA are:

a. Chemical action -The host cell is treated with a specific concentration of divalent cation, i.e. calcium
which increases the pore size in the cell membrane. DNA is then incubated with the treated bacterial
cell at 42°C, thereby increasing the efficiency of DNA entering through pores in the cell wall.

b. Heat shock treatment- Incubating the cells with recombinant DNA on ice, followed by a brief
treatment of heat at 42°C and again putting them back on ice.

ii. Biolistic guns or gene guns are used to bombarded rDNA loaded on gold or tungsten particles with high
velocity. In this way, the rDNA is delivered to the desired host cells.

33. Process of secondary treatment given to sewage water:

i. The primary effluent is passed into large aeration tanks where it is constantly agitated mechanically and
the air is pumped into it. This allows vigorous growth of useful aerobic microbes into flocs which are
masses of bacteria associated with fungal filaments to form mesh-like structures.

ii. While growing, these microbes consume the major part of the organic matter in the effluent. This
significantly reduces the BOD (biochemical oxygen demand) of the effluent. BOD refers to the amount of
the oxygen that would be consumed if all the organic matter in one liter of water were oxidised by
bacteria.

iii. The sewage water is treated until the BOD is reduced. The greater the BOD of wastewater, more is its
polluting potential.

iv. Once the BOD of sewage or wastewater is reduced significantly, the effluent is then passed into a settling
tank where the bacterial ‘flocs’ are allowed to sediment. This sediment is called activated sludge.

v. A small part of the activated sludge is pumped back into the aeration tank to serve as the inoculum.

vi. The remaining major part of the sludge is pumped into large tanks called anaerobic sludge digesters
where anaerobic bacteria digest these bacteria and fungi in the sludge.
vii. During this digestion, bacteria produce a mixture of gases such as methane, hydrogen sulfide and carbon
dioxide.
viii. The effluent from the secondary treatment plant is generally released into natural water bodies like rivers
and streams.
Another benefit provided by this process:
During this process, bacteria produce a mixture of gases such as methane, hydrogen sulfide and carbon
dioxide which form biogas. It can be used as a source of energy as it is inflammable.
OR
Primary treatment of sewage involves the physical removal of large and small particles from sewage through
filtration and sedimentation.
The steps involved in this process are:

i. Floating debris is removed by sequential filtration by passing through wire mesh screens.

ii. After this, the grit (soil and small pebbles) is removed by sedimentation in settling tanks. The sediment is
called primary sludge and the supernatant forms the primary effluent.

iii. The effluent is then taken for the secondary treatment.

The secondary treatment of sewage is also called biological treatment because, in this treatment, sewage is
subjected to biodegradation. It means that it involves the participation of microorganisms. The process of
secondary treatment involves the following steps:

i. Primary effluent is passed into large aeration tanks with constant mechanical agitation and air supply.
This allows vigorous growth of useful aerobic microbes into floes (masses of bacteria and fungi filaments).

ii. These microbes consume a major part of organic matter in the effluent while growing. This reduces the
BOD of the effluent.
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iii. When BOD of sewage gets reduced, it is passed into the settling tank. The bacterial floes settle in the tank
and the sediment is called activated sludge. A small amount of activated sludge is pumped back into the
aeration tank to serve as inoculum.

iv. The remaining major part of the sludge is pumped into large tanks called anaerobic sludge digesters,
where other kinds of bacteria, which grow anaerobically, digest the bacteria and the fungi in the sludge.
During this process, bacteria produce a mixture of gases, such as methane, hydrogen sulphide and carbon
dioxide, which form biogas. The effluent from secondary treatment is generally released into natural
water bodies. It helps to reduce water pollution and water-borne diseases.

The gases from biogas are used as a source of energy because it is inflammable.
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Atomic Energy Central School No-4, Rawatbhata
1%'Confidence Test— 1 (2020-21)

Class: Xli Subject: Computer Science (083)
Time allowed: 3 Hours Maximum Marks: 70
General Instructions:
1. This question paper contains two parts A and B. Each part is compulsory and has choices.
3. Part-A has 2 sections:
a. Section — | -is short answer 15 questions, to be answered in one word or one line.
b. Section — Il has two case studies questions.
4. Part - B is Descriptive Paper.
5. Part- B has three sections
a. Section-| is short answer 9 questions of 2 marks each.
b. Section-Il is long answer 6 questions of 3 marks each.
c. Section-lll is very long answer question of 5 marks.
6. All programming questions are to be answered using Python Language only.

PART-A
Section-(l)
1. Which of the following are valid operators in Python : [1]

(i) +=

(ii) not

(iii) =/

(iv) &&

(v) ??

(vi)==

(vii) ++

(viii) and

2. Name the python library module which need to be imported to run the following program: [1]

print (sqrt(random.randint(1,16)

3. Write a statement in Python to declare a dictionary whose keys are 4, 5, 6 and values are Jan, [1]
Feb and Mar respectively.

4, Which of the following is a DDL command? [1]

a) SELECT b) ALTER c) INSERT d) UPDATE

5 Name various bandwidth units? [1]

6. Name various wireless technologies? [1]

7. Write two importance of firewall? [1]

8 Name two types (examples) of IPR issues? [1]

9. Give example of any two cybercrimes? [1]

10. | Explain the role of Switch in networking? [1]

11. | What is identity theft? [1]

12. | Whatis URL? [1]

13. | How to give messages in the query output in SQL? [1]

14. | Write the output: [1]

name="Computer Science with Python"
print (name[:10])

15. | Dr. Theekkar Singh is a very experienced Orthopedist in the Lalji Nagar City. He is planning to | [1]
connect 5 of his clinics of the city with a personalised application for his appointment
organization without using mobile/web application. Which out of the following networks
would be suitable?

(i) PAN (ii) LAN (iii) MAN (iv) WAN
Section-Il
Both the Case study based questions are compulsory. Attempt any 4 sub parts from each
question. Each question carries 1 mark

1



16.

17.

Write SQL queries for (i) to (vi) and write outputs for SQL queries (vii) to (x), which are based

on the tables given below :
Table : TRAINS

TNO TNAME START END
11096 |Ahimsa Express Pune Junction Ahmedabad Junction
12015 |Ajmer Shatabdi New Delhi Ajmer Junction
1651 |Pune Hbj Special Pune Junction Habibganj
13005 |Amritsar Mail Howrah Junction Amritsar Junction
12002 |Bhopal Shatabdi New Delhi Habibganj
12417 |Prayag Raj Express Allahabad Junction [New Delhi
14673 |Shaheed Express Jaynagar Amritsar Junction
12314 |Sealdah Rajdhani New Delhi Sealdah
12498 |Shan-e-Punjab Amritsar Junction |New Delhi
12451 |Shram Shakti Express |Kanpur Central New Delhi
12030 [Swarna Shatabdi Amritsar Junction |New Delhi
Table : PASSENGERS
PNR TNO PNAME GENDER AGE TRAVELDATE
P0O01 | 13005 |R N AGRAWAL |MALE 45 2018-12-25
P002 | 12015 | P TIWARY MALE 28 2018-11-10
P003 | 12015 | S TIWARY FEMALE 22 2018-11-10
P004 | 12030 | S K SAXENA MALE 42 2018-10-12
P0O05 | 12030 | S SAXENA FEMALE 35 2018-10-12
P006 | 12030 | P SAXENA FEMALE 12 2018-10-12
P0O07 | 13005 |N S SINGH MALE 52 2018-05-09
P008 | 12030 |J K SHARMA MALE 65 2018-05-09
P009 | 12030 |R SHARMA FEMALE 58 2018-05-09

NOTE: All Dates are given in ‘YYYY-MM-DD’ format.
(i) To display total number of MALE and FEMALE Passengers.
(ii) To display details of all Trains which Start from Pune Junction.
(iii) To display details of all Passengers, whose TNO is 12030 in order of their name.
(iv) To display the PNR, PNAME, GENDER and AGE of all Passengers whose AGE is above
50.
(v) To display the maximum age of passengers from passengers in male and female
separately.
(vi) Count the number of trains starts from each station.
(vii)SELECT DISTINCT TRAVELDATE FROM PASSENGERS;
(viii) SELECT MIN (TRAVELDATE), MAX (TRAVELDATE) FROM PASSENGERS WHERE GENDER
= 'MALE";
(ix) SELECT START, COUNT(*) FROM TRAINS
GROUP BY START HAVING COUNT (*)>1;
(x) SELECT TNAME, PNAME FROM TRAINS T, PASSENGERS P
WHERE T.TNO = P.TNO AND AGE BETWEEN 40 AND 50;
Write SQL commands for the queries (i) to (iv) and output for (v) & (vi) based on a table
COMPANY and CUSTOMER.

[8]
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COMPANY

ciD NAME CITY PRODUCTNAME
111 SONY DELHI TV

222 NOKIA MUMBAI [ MOBILE

333 ONIDA DELHI v

444 SONY MUMBAI__| MOBILE

556 BLACKBERRY | MADRAS | MOBILE

666 DELL DELHI LAPTOP
s CUSTOMER o
CUSTID | NAME | PRICE[QTY [CID
101 Rohan Sharma | 70000 | 20 222
102 Deepak Kumar | 50000 | 10 666
103 Mohan Kumar 30000 | 5 111
104 | Sahil Bansal | 35000 (3 |333
105 | Neha Sonl | 25000 | 7 444
106 Sonal Aggarwal | 20000 |5 333
107 Arjun Singh 50000 | 15 666

(i) To display those company name which are having price less than 30000.
(ii) To display the name of the companies in reverse alphabetical order.
(iii) To increase the price by 1000 for those customer whose name starts with‘S’
(iv) To add one more column totalprice with decimal(10,2) to the table customer
(v) SELECT COUNT(*) ,CITY FROM COMPANY GROUP BY CITY;

(vi) SELECT MIN(PRICE), MAX(PRICE) FROM CUSTOMER WHERE QTY>10;

Part - B
Section-1

19.

20.

21.

18.

Rewrite the following code in Python after removing all syntax error(s). Underline each
correction done in the code.
"HELLO"=String
for I in range(0,len(String)-1)
if String[1]=>"M":
print String[1],"*"
Else:
print String[l-1]
Find and write the output of the following Python code :
Msg="CompuTer"
Msgl=""
foriin range(0, len(Msg)):
if Msglil.isupper():
Msg1=Msgl+Msg[i].lower()
elif i%2==0:
Msgl=Msgl+'*'
else:
Msg1=Msgl+Msgl[i].upper()
print(Msgl)

Find and write the output of the following Python code :
def Alter(P=15,Q=10):
P=P*Q
Q=P/Q
print P,"#",Q
return Q
A=100
B=200
A=Alter(A,B)
print A,"S$",B
B=Alter(B)
print A,"S",B
A=Alter(A)
print A,"S",B

What possible outputs are expected to be displayed on the screen at the time of execution of

[2]

[2]

[2]
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theprogram from the following code? Also specify the minimum and maximum values that can
beassigned to the variable c.

import random

temp=[10,20,30,40,50,60]

c=random.randint(0,4)

for lin range(0, c):

print(templil,”#”)

(i) 10#20# (i) 10#20#30#404#50#

(i) 10#20#30# (iv) 50#60#

22. | Observe the following table STOCK carefully and answer the questions that follow : [2]
Table : STOCK
SNO NAME PRICE
101 PEN 50
102 PENCIL 5
103 PENCIL 10
104 NOTERBOOK 50
105 ERASER 5
i) Which attribute out of SNO, NAME and PRICE is the ideal one for being considered as the
Primary Key and why?
ii) Define the term Cardinality and Degree of a relation in context to database?
23. | Explain the various keys: Candidate Key, Alternate Key, Primary Key, and Foreign Key? [2]
24. | How to use between and like operator give one example of each? [2]
25. | Write the expanded names for the following abbreviated terms used in Networking and | [2]
Communications :
(i) XML (ii) SMTP(iii) VolIP(iv) loT
26. | William Jones has got a file that is replicating itself in order to spread to other computers using | [2]
computer network on its own, relying on security failures on the target computer to access it.
It is consuming a lot of network bandwidth also. Which of the following type category of
infection will it be considered? Also, mention, what should he do to prevent this infection?
(i) Virus (ii) Worm (iii) Trojan Horse
Section- 1l
27. | Write a function LShift(Arr,n) in Python, which accepts a list Arr of numbers and shift left all [3]
the elements (n times).
Sample Input Data of the list
Arr=[10,20,30,40,12,11]
if n=1 output is:Arr = [20,30,40,12,11,10]
if n=2 output is:Arr = [30,40,12,11,10,20]
28. | Write a function in Python that counts the number of “Me” or “My” words present in a text [3]

file “STORY.TXT”.If the “STORY.TXT” contents are as follows:

My first book was Me andMy Family. It gave me chance to be Known to the world.
The output of the function should be:Count of Me/My in file: 4

OR

Write a function ACount() in Python, which should read each character of a text file
STORY.TXT, should count and display the occurrence of alphabets A and M (ignoring the
case).Example:

If the file content is as follows:

Updated information

As simplified by official websites.

The EUCount() function should display the output as:

Aor a4




Morm:2

29. | A binary file “Book.dat” has records like [BookNo, Book_Name, Author, Price]. [3]
i. Write a user defined function CreateFile() to input data for a record and add to Book.dat .

ii. Write a function CountRec(Author) in Python which accepts the Author name as
parameter and count and return number of books by the given Author are stored in the binary
file “Book.dat”

OR

A binary file “STUDENT.DAT” has records like (admission_number, Name, Percentage). Write a
function countrec() in Python that would read contents of the file “STUDENT.DAT” and display
the details of those students whose percentage is above 75. Also display number of students
scoring above 75%.

30. | Atext file “Modem.Txt” has the following data written in it: [3]
A modem is a modulator-demodulator, is a hardware device that converts data from a digital
format, intended for communication directly between devices with specialized wiring, into one
suitable for a transmission medium such as telephone lines or radio.

Write a user defined function to display eachline separately and also print total number of
Lines.

31. | Write definition of a method/function FindOut(Names, HisName) to search for HisName [3]
string from a list Names, and display the position of its presence. 3
For example :

If the Names contain ["Arun","Raj","Tarun","Kanika"]
and HisName contains "Tarun"
The function should display : Tarun at 2

32. | Write a function which accept a list of numbers and sort this list using bubble sort method. [3]
Write main program and take input the list and call function BSort(). Pass the list as argument
and display the list after sorting by the function.

Section- 11l
33. | Piccadilly Design and Training Institute is setting up its center in Jodhpur with four specialised | [5]

units for Design, Media, HR and Training in separate buildings. The physical distances between
these units and the number of computers to be installed in these units are given as follows.
You as a network expert have to answer the queries as raised by the administrator as given in
(i) to (v).

Shortest distances between various locations in meters :

Design Unit to Media Unit 60
Design Unit to HR Unit 40
Design Unit to Training Unit 60
Media Unit to Training Unit 100
Media Unit to HR Unit 50
Training Unit to HR Unit 60

Number of computers installed at various locations are as follows :




Design Unit 40
Media Unit 50
HR Unit 110
Training Unit 40
DESIGN |

HR

(i) Suggest the most suitable location to install the main server of this institution to get
efficient connectivity.

(i) Suggest by drawing the best cable layout for effective network connectivity of the building
having server with all the other units.

(iii) Suggest the devices to be installed in each of these buildings for connecting computers
installed within each of the units out of the following :

Modem, Switch, Gateway, Router

(iv) Suggest an efficient as well as economic wired medium to be used within each unit for
connecting computer systems out of the following network cable :

Co-axial Cable, Ethernet Cable, Single Pair Telephone Cable.

(v) Suggest the most suitable places to install the repeaters in the network if they use high
speed Twisted pair cables.
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i. agt eruffud facfImn &t oft ggrT firera 21
ii. gl qedt SR E |

iii. gt T g 81
iv. agt 9<f uscit g1
Frafadt f§& iR T dw Aoy & @ FErgar fGeea o a7 fifsigl [5]
a) T8 S gHTAR & o TgY o a gl ol Rutéx @ fireft St & SR R geT @ Faifdrd g <ar
8, HhEeldl 8-
a) fa3rat Yae-the b) UahR-tavst
¢) 913¢ Yaw d) g1$ ger

b)  gHiers & TG 82
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a) gagTaRhY 1 JTdaT b) ¥RER w9
¢) Mdert d) faomst

C) SR HIEYH ST AT g1 8-

a) g @ AFR Agd b hl SAHGBRT e b) GXHRI BTHBN W R 7l 81
el
0) TgeIRIG SHaa A AT W& d) 3T sreuiias St @t ggrar i g1
d)  dic HmaR A gl R ot Fgd &-

a) d@H b) TR

c) HuTeeh d) Hareerdr
e) & s H gt 3R Iugh A I 82

a) ST eTsg At o AT 8t b) &fe ereg

¢) SierdTel & 2Tsg d) o= fagar Ik
frafaf@a sy #) ygaR gp U ueAl & <R Al
RefTaY hY gag I i geoll
BT § BT T Y gAh!-geTehl
foSTet! &hY TORE THh @ & aD
T & § drerl THhd) I
1. Bft @ BeT T Y gerchl-gerchl Ufch H @i STdR 872
i. IUAT ATADBR

ii. GTORRYRIY 3eThR
iii. arforeriTfh sreiaR
iv. ¥ 3fADR
I1. hTIRT & HTHT R Fh19l STferq |
i. Tl adi &
i, TS
iii. g3er 3R gt
iv. sfsa
M1 Tt &Y JorrT foped 718 82
i. focTett &Y ame @
ii. sgcHg @
iii. e & Toi T J
iv. =g 6 wigear @
IV. &fg 3 91E 98 & Gay ot fhgd ST arm 82
i. =Y 3fR arepTar ST
ii. 5ot 3fiR 7S & <
iii. Tfe IR gt SHaT
iv. ger 3fR fasteft & Shar
V. TR Ufthall & fd B &2

i. JgAR g1y

[5]
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ii. frer wreted!

iii. AR

iv. foRTeR MRyt
frafofea STy wt e B T uel & IR e
AR oY Y o aresf TaTS ! 87 Sk &, afe TwT gu, A R SR g o ART siesf qHTST Todan, g,
YTaT IR ATUTRA gHIT? T I8 Sreh A&l &, arqar AT WrgaR J foreft ot aar smufxy gt gendt 82 foneft oft
arresf THTST 3ot Acrelier gt =Ry e’ st off aifesd ufvadH aarsr & e 8RR @ SR a6 daria gt
% | 08 TS & aglafe fRal & gaet v g =nfyy Jer aaent 3t 28t & Uiy g wgAr @nfg ) amifois
Sfta 7 3TaTeg Tudh & 3T T4 d AR IuAsy g AT Ao I8 ok g-urit & fs70r Y TRe wrdar &
FEY AR T 8, 3R ST T IR AT Al 81

1. SRaeh J R feremati ot simesf TATST Y ¢ AT &7
i. T

ii. gHar
iii. srEamT
iv. Ta=dT, GAdT, AR
I1. AT & TEY chl TE hIfTI
i, arg-emg
ii. gop-g@R @1 fBa
iii. fe=TT T@aref & amyfes fFavma
iv. WRUBHR
I11. '37eTY Tueh' @ @ dh T T MU 8?2
i. fomT o & dudh
ii. sreT 3fRT
iii. Tueh AT
iv. &1
IV. GHTST § 9TEER chY e Shel) =rfgu?
i. gyl
il. gu-=fi-t
i, gur-orefY
iv. goft
V. Tqa=dT, 9TE9R, YTqal & TIY-T1Y T3 AT & forg iR aan smasaes 8?2
i Tfcrefieran
ii. AT
iii, Fefotler
iv. 9189
frefaf@a neal 3 Fdrgar el &1 wa7 HfST:
a) Rt a 9 o™ oRar 82 [Reex afem]

a) Qe AfhaR b) HTHET HAoR

¢) wih d) 9
b) ReR AT Hgr A asier a9 @1 Afmar-aer @ g?

[5]

[10]
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a) GHAETS TR b) sfRr<

C) 3TPIS d) fepsrer
C) 3P RIS BiAGl & HIH-YUG 3% R A &1 g8 Sy fhaa 22 [SEI]
a) AR Higerita b) & Sff 7T
¢) d@H d) a¥d urctel
d) dEH & U & TR WerdT iR =T <51 et smed € 2 [l
a) UgTs & off arut b) F&d ST
c) §gt d) Tera

e) e A IRl Y T g dh] YHIRT SITdT Y17 [STia A &9 U]
a) drr TR b) gARd

¢) gid d) T8
f) A H S UGS & SR e 7 Wit & Suahvor fong arq / yeref & ey 92

a) T b) U<eR
c) ARG d) drar
g) I H 9 UIq UIS & IR AIEICS! UER & I Teh dh drers fohe it 872
a) o Hier b) 9 e
¢) I e d) < e
h) Ot theh T ST-H gl gorm UT?
a) STH b) 3rRe
¢) ST d) fsrea
i)  Hfaat *R forg demet Y geret A Farer ARE At g
TR Y fhaet 87 [STadt & =]
a) ATMIC b) ¢ Tk
¢) PRer am g d) gt
) S & U IS § AT & R T fRMEER i U1?
a) AT b) Mesfese
¢) St d) fergr
Ge-9 quIfcHep Ue
frefafea 5 @ fordt gen v wR e 150 rset H T e forfea: [5]

a) AR B R 99 QA1 v R e s A e
b) UI:PA A R T R wETHS d@ f@u
©) YR g A siafiear v W g orgess @y
TS TR MY | §S Gre IR I8l Tl Yfold a1 RIS ura 3o o o Royé forgar amgl, fhg et [5]
forft 7131 foeRur afga g fRArewraa ded gu i Smsh ot v farfag)
OR
foreft i e & gteat & Ueud ot fufRa fafeal &R gieat & & FaR smRfera s &1 3TgR1g @ g7 U= farf@g|
T A 3 RoT oft FIRY o smum 98 greet @t AT
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10.

11.

12.

13.

14.

frafafaa 5 @ 2 ueAi & ITR 40-50 2rsal 7 SR (3+2) [5]
a) g & 3T F ufkaer a1 faRor a1 faeRuneres feafort @t forg ave graifarg fomam strar 82
b)  wer & 39T &1 TaTe AR THY fohT Fecaqul ATl T eaT G AIfeY?
C) e T § YT & YAl &l Y WE HIfSg|
d) e & TTeg- TUEROT Hea Y fhT Fecaqu! aTdi T ear a1 arfgg?
frafafaa 5 @ 2 ueAi & I9% 40-50 2rsal 7 SR (3+2) [5]
a) BRI fRear & @ arcad & ?
b) 3T & SO T A fhdehl ST 8 ?
C)  Tuleeh o al STRICA! el Jexid hIfIg|
d) IEER U S IR HifSig)
fafafa veat 7 @ fop) < & 3I9R 50-60 2r=af & SR [6]
a) &R 9 IR sfivfen Y Sugehar &t Rigg Ayl
b)  Yaleg B Usel AThRTST H FT-aa UiNacH gl &2 IT hiadT & SR W sy
©)  Hfyarach ¥ Igd DAl & SHUR W TE R [ Jerel ™ Y 37 G i s foerr v arest a0 21
frafafd wedi 4 @ forwgh a1 & IR 30-40 2rsaf 7 SfORY: [4]
a)  Wfd 3o Hated (gt srfdar Gaifdrd & sfdar er 'gH’) &t T OR8 el ST I18dT 8, 39 S1d ht 9!
TIch @ h et o forg T gk STUATS &2 @ifoha 3iell bt e # T@ehR IR <1(FEY ThRT B)
b)  foRTe MR Y faarail & SMeR &R ISy T MR qTgaTe) 872
C) MU ATEI H gFH o IR hY HUT 7T & a1 IR 79 o1 snfavifa ot gt mam 82
fafafa ueat 7 @ fop) < & 3I9R 50-60 2r=al & SR [6]
a) A U1 & SMYUR W TRId & =01g R feugoft Hifsgl
b) &I HET U S GEHROT & A@eh A Aleh- Yafold fA9arl e Serfied hgehk I7ah fMRTehvor R 9ot far
2 I- 39 Sy & faamT iy
o) i fiuRra siidear & siesf THST Y FHewT H YTgdT 1 HEd WE HIFY
frafafaa wedi § @ foAwgh &1 & IR 30-40 2rsal 7 SfOR: [4]
a) IR gdF ey & T & IR 7 Fargyl
b)  UEHAH g & gE-a R AT o1 U 30 Sreal 7 HfSg
C)  TH® FHElH HT UfcHTer Sargy|
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1. 01. (1) @
02. (@) foar & A= w1 der
03. () TreToT ht offa
04. (@) U T
05. () T AT
06. (1) ITHT I
07. () AT HTEMAT
08. () AT
09. (1) oG T

10. (@) Tl

&%) 1 Sfia fRafg
Q) 23
) 4 WTETSH T Add ST
T) 1 WRiaerts
8) 2 YR @& Y
) 1 GO R
®) 1 99 ag fdemam giar g
M 1W
37) 1 Frd Y qamr §
=) 1 frem & doe
2. 1 (iii) srgum
I1. (i) foraam &Y
I11. (iv) feRtemary
IV. (i) forer
V. (ii) S &

L (i) YRd T
I1. (ii) SugHT
III. (i) oM hT

Solution
Class 12 - f§& &R
Confidence Examination -I Part-A (2020-21)
TS-3 RS UH

OR

OR

IV. (iii) e Sfer gRaTell &R - #1e A TRl
V. (i) ggl sraRfa fae ot ot oft gerr Aear 81
3. ;prTedt BE ok T@aeHe o Fmfafed & ¥ FAdmgar fAeedt &1 oa= Hifsigl

Explanation: 1 U 98 & Sl GHER & [ gl 31 deh &Rich] o RUIEx ¥ fAell STHa R & SR R g1 I

a) (@ gE TR
Gefd G 3T 81
b) (c) fidart

Explanation: ag GHi&ch 1701 481 &
¢ (d) 35 Feu Sfa o) dgtar RaT gl

Explanation: 357 &Tede Sfia- sl dgmam a1 81 399 ga-ard! ugii s @l 81

d) (d) Fager

Explanation: siic &1 Rulé a ¥ aret ot dareardr sed g

e) (c) ST & g

Explanation: & ot 7 siciaret chY 9T & 2165 6t Ggol 3R Iug<h A MY g

4. 1. (ii) GTRhURT HARR

I1. (iii) T=eT 3R GgT
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I11. (i) forsTeft &t 99 &
IV. (iv) et 3R fasreft & Star
V. (iv) fOhreh TREgd
5. L (iv) Tad=dr, 99T, TEaRT
IL. (iii) foT @l & T feen fBawma
I11. (i) fomT amen & guh
IV. (iii) gg-ort
V. (i) nfa=fterar
6. fAmfafEa usit 7 Rdergar et &1 =T i

a)

b)

)

d)

e)

g

h)

i)

)

(b) AR ET AR

Explanation: fRier a2mieRr S Y Ueit o1 IoRT W18 7| 98 Rl a1 ot # Arh & A-ek 81

(a) GHBTS 3BT

Explanation: afhaT-sd, I8 <Teg IT ARSI STt s Afh 30T 82 1 | Sitedl ¢ | HgH! & JMeR a1 T dfchal-
A "THERS SRTWR' g1 3 31U &2 §1d A 39 g &1 TN hid &

(c) dE®

Explanation: IURh 2 S[31 UIS & <I@ch 181 3T R YT H at 31u+ fietes & fawa & svg w181

(d) TTerd

Explanation: % & fidr @ ofR 71 S S g dl o 7Teid A 8 | 38l hRT & I614 odeh T UgTs
EREAR

(a) =T TR

Explanation: Uis & 3R Alg-siice! # Sf&id] s 1 TR shgeh Yeh RT STIT T, Hifch 3 76 I BIE &l W e
gU I

() TS

Explanation: U3 & 9R A& IR GR A TSl 3R TehHh o IJUeh0T SHIY ST | 37 JUH 0N T TN el h
forg fahar Sirar

(d) & e

Explanation: Uis & 39R Higslias! chl &I TSch S GL AE hl SIS g, STh! ST ddid He 8l

(a) ST+t

Explanation: Bt theh &1 S+H 1929 # ST & gorm o, dfcha a1g # 37k agdl 814 o HRUT 379 ARTRA AT BIF ot
TS ot

(b) ¢ thep

Explanation: TRJd & ¥ UIS ch1 oifdenT B theh 181 Ik AR FYfad] 1 Agd fhdl «ff e § IR 21

(b) TiesfAge

Explanation: Urs & SaR Af&aTh 8 & I #foie § MesiAge A T Teh [hI-ER T@dT ATl 98 Toh I asig
faeR

Te-9 quiicheh Usl

7. Fefafad 7 3 fhd ue vy R T 150 reet § T@HeHes fafed:

a)

Hiage B foeT 9a g
TIR & &5 H shifd M & fATH-Ue< s IURUN T 81U 8, IR HISSd i a1 YffienT aiftien 8| Jiamget tiF forg oot 9
AT ehY TG FehT SHRT 8, ot doft I 13 30 TR T a1 | ST 38 HR-TRIS, Jar-Uig g3 Ueh h! Sid A g@m ST
Gehdl g1 3Tch UNTT I IS &t h 13 &l gt & Y [AeTRar o1 aQres 99T ST arell Hieigel thiF 31157 gR fch ahl STevd &
T8l
SIS oh1 81 & & foh Ueh ohiet TR I1oT S, WieR, shRueR 31 Iufdd gt Sird & | [demef gedent &1 tifsuw ar Juaiit
AFR SRS HIh THATIER UG-G 8 &1 3T af hogpaiey, hadex i a¢ Iuahit §, Sent Iuatt ¥7a-57a W
fohaT ST TR aT g1 Trr-ary fashy wu I Afged U et Alarsd & A 310 Sl GRid Te9d i 8, it dh1g TRt
3 R J deh el 31U URSTHI & Yuch R Tehd g
STET Gk 3T SHRT ITANT ST &, Al GORI aRth 39ch JUTNT § s Joha T 8 197R T g1 Sigfa -1el & foh g7 ot &
SR H AlTEel BiF & T &9 H I MY & | faemffror ugs &l sty thid R T G, 315t fThed &, SHasaeh
I H T B 8| T kT UETS T &R AR BT 8| AISISe i W & 31 gAR WA R Ufdgd WG Sieidl g1 39
TR SUTET d1d eh 3T SgRU aht <A1 ST & | e e o 8T ST T ITTNT ITeld 32T & fiQ fohar ST &1 Alemsd v
:3¢E St ST IUh 0T 3R AT T THHR & | THRT AGUANT 3R GSUIRT 75T & eI H &1
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b) I T ht &R
OTd: hTel hi IR F 9 UGpfoerd aT o TRy IgdT 6 | WY Afh ot G9Y gidT 8 3R g TIAI 9 & foh Jgt 3fdd &l
HI Gehdl g1 T8l AR, TaT, e 3Nfe g3 &7 & Gthel &l GehdT & | fth I T T§ Tohdl & 9 dg AT S| aa™ 3
Q-G E, AT, RIhT, SIS S A &, W T ok &2 afth & g T8t 781 gid| R aafeh &Y uRfAfA 7 méiRkes gam
ST gt &1 QH AN oh ol Ui TeT oht IR & sfear faerey 78T 8 Tehan|una: il § IR ¥ T §H 31T & Ugfid
IIATER0T H Ht ISt g gaT of Fhd &
gfe afh i 0 9 ia: @1 &l IR 6 df I S1fdeh BRIET o Tehdl 8 [UTd: IR I Afsased ot off hreTgarg | W
Gy R fRiarstt ¥ qr @1 91fgq | Ui ahTefi TR & g Iugwh WM o1 g1 ol S 81 gHA 1 WU Gell I Ah-G
3R ugHuT AT BT TR &< O TR A7 IR T F il Y AT Jglt 8, TUT KR | dreiit ATt | 9 I1d T €T @
=gy foh a8 o ot & @y =8t gtam
e 8 97 R gor T afch d9R gt gahar 81 gRa & & W 7nfgul saek e alkal-gd a @i & fhAR, urdh,
IJRT-TMS 371 off ITAIR T A TG & | Geit Geh] IR g&il & A gHT ST Fehdl g1 Ife & 99 $© Iudey 7 g1 df el 8d
R GHR ATH ISTT ST TRl g | Td:h el IR & -7 U 8! Gehdl 8| T Tl G GageT™ U™ 8
) R 99T & Sfefasye
S &) af@d s @ & o A A Faat A Geea ) [ o &Y T & 7181 37 Ranl 132 AaFasiaT o)
G&l, U= 9 AR I AT GHY el & TI-A1d o [ e gt g 8k & siufayr &1 ¥U 4RU1 633 &
YR g & & siufyr vl § st Rig 81 R €
AR TS & 3eh fay Sfted &Y Tifiefictar 3 91 7 9o & RUT U7 81 Y ¢ 1 3 Siufasyra 7 o &Y Feaga,
STYNU-UH, ST1g-¢H | fayr, Sf-daarsit & ufd srellge g onfe amfSies Hifaat 81 3 Hfaar sirer a1 &Y worfa A
aTereh fOg 81 381 8| ISTERURaEY gHAR 4H H S & IR STIfd-5en T faerm fohar ma, )ig are # 39 5177 & SR |
A foraT T S1TST ITehT TR a1 GHIG BT TS 8, TRg SIRETUI, ST S8l & g YU &1 HRUT S gU 81 34 e
HHAHH! oh SN J S H PAHTR h1 HIaHT 1 Serar e
g1 # FRAR @FT hl GHAHAMI o 8T T WHT USdT AT, theld: fgg THIST 378 afgSehd 3 ST AT AT I7p €Y A foram
ST ATI ITch T WIS 31, ISAT-4GT 1S deh e 3 feam 77| 368 GHTST WREeT § 3171 38! Ueh R WRATT THTST ehT
Toh ST I SG-¢H B A48 T@dm 81 gl HIfSAT & UOR g Sifgahdl Ig= & G- T ST A g o g1 fthe oft
II-n T ARafcl, TFll-TIT 371 hT TS Ueh1RT | ATl 81 <5<l & | 39ch TRk TATST F 3eh g & STUGH o ot
Tafeld 8, SiY faeet! gRT AT 1T STHT, i T [ Hd T foh &l 1 Sfeh ST, G § STaTST T, Teld §T START g
e
T3 AN 9ch HRUT U HEAYUT T deh Ach &d 6| GAR TATST 1 Tl IST Ay TaT ®9 7 RIS & Ui stuvfih
g1 ST Y 9 3k STATIgIR aTd U S[e U 8 | Hicid STy faen o Terelt &t 39 TR & fasygra ol 31e # 31u=1 U
WA 8| TSeh! & STH ehl I AT, faarg 7 amed & srfdes e anfe off 381 siufayral oY Iust 81 3ra df a1
Qeh Ul STHTT R 8t geh g STt 37T oh I1H WR ST-1dT bl YfAd &3 38 ¢ | HifSar oft o6 R 7= & 9gai1 h @t g IsTe
SffagrEt & ArenH T Yfid g9 I s gt g1 ST ol Yfid e § g 81 a9 fhar off o o gerar g2
AT AT 3T a1 &1 § foh oif & arafdes T o) TR SMEROT &3 3R 31Ut wTf 3 3R St oft et amudh omifa &
ThTIC AT, ) i3 o 81 81 Tehdl| GHTST ol 13T foh T STHM & 91 shed ¥ thed fAdmh It 3R 3¢ TRURTSH &t IeT
& foIg gt AR S|
8. 72/75, TS TR, geAT

17 38T, 2019

e |,

g smgeh

e TS fgR ueT

faw- gfere g favar S arer sregatT

qgled,

# STUhT S Yfeld gRT T ST o 1Y 3O ST dlet SEgdNTIcHeh 398 hi 3R STeh fid T Aigd1 § | & et & | onmear

10:00 st 7ifeft A I SHTGR T 6T AT1 IS | A ST oht foh <t o MY 3 IS U eaen? AR &, e 7 gt 7 Mt 4 Re

eI g1 112, afch M A I8 A 98 U 3Tk a=d 1 oft Igd e et

R A & R A 1A dic T T AT G Fend BT ATl TR ARA aTall 70T TS diehY g W 71T T8 UISt &% W 8l Gferd ahl

et @el ot & gHeArye W gid 31 at 1Y, dfchw I fhdt it UhR o1 wgaT =gl fhaT! 7 df Igi ¢ ARA dTelt TSl hl AehT

3R 7 gt 9= & ITAR & oY SRUATA o ST H AGE ah1 | foh &t kg TG vl Y A& I gt 7<) 981 U %ilot oh! SI¥gdTel Ug I/l ST

GehTl

376 AT | il h3 oh d1G A geT § Teifdrd Tum a1 Rulé Teifdrd o= 7 forgart amdl, dt agt oft Ruld &<t g1 ohl 151 s1id

HIfAN HA & d1g off ST9 & 390 Thel i g1 TehT, dt A 3TehT RIATT MUY AT I qu3t|

A1 o e 8 foh gford o1 ot STaT Y da1 v & forg gt 71fda forar mam € ofk agt ol gferw oo 33t 31 vt o 718 8

AT Y T Tl G TR ¥, dlich T STT T SHRT AT e Teh | 3R Gfeld oht SHehT oh ™ THSIT SITY, difch d 370+
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gl g1 & Sl 1 Ul Tal 671 8 3 Toh | 71 g +ff (e g fo Ak Trer g3 goen 9 Gefda oo gamm Rulé efda am &l &st
A AT A TH IT R Hdarg! &l Sy
TEgaTE |
warg
9 fasy
OR
ar d,
e Hgled,
wWich ge Biee,
A, ITRRES |
17 319, 2019
v -glee d W IRMAT HAM 8g)
Tgled,
# 514y, feoett ot Faredt €1 # sruch glee Y Siawid & fawa # aga uien gt g1 & ofR 3 uRar féAies 25 e, 2019 &
27 31, 2019 deh A-itaTet & e & IeeT F o R € guferg & wrear g fob amy it 20, 2019 ¥ 27 it 27, 2019 Tk HY
i & forg A 9m ¥ 3 AR SRfed SR I
CRIGI
Jarg
ST YR
ety
9. Fm=fafaa & ¥ 2 usii & IR 40-50 <rsal § EfST: (3+2)
a) Ig 33T 3T ¢ foh RS, aRawr, um, sumes & Sefdq fAerumcres fwfo g ueer &Y €1 i ueer &
faaRotl &t e | WM Ak STAT-31eTT dich & | IaT8<0T & foiy fdaRuTcres froqoft afe uRasr & sR & & af I H9 Iour
& Sfaifa foraT STT Gerar & a7 ursg Iiid & A1edH ¥ 2<h a1 ST Yendl 21 fAarur afe ol & IR | & df 3= Jarel &
AreaH § MuiRa gt 7 IRT W | a1 51 IR 81 g &1 dread I8 & foh g J a<h Ag<aqul Tl Aleh & W&y
& IAFER ST STTg FeiRd w A &1
b) g RuiRd 81 ST W Ig A TR ST Tehdl 8 foh goa &Y Ot Srasaararsii Y Q1 3 aTet a1 34 & shieh faem
& AT e & oy ot dare € a1 71811 afe gai gare 81 € o 36 folas o ™ fohaT SI1dT 81 9a9 ugett 3R
HE<aqul &1 I8 & foh ¢ g Tare, g™l & 71 Taral o 9 A @Nd 81| gl Ag<aqu a1d I8 foh Iah ford ST a1 8t
yfaera sifeca gl et 19 <7t e | 38 98 I8 & foh Jare sie, Tmasned! 3R sicare &Y 9§ g1l hgMt 3 89 o9
e ! UTSTh UG Tehdl § Afch= Hd WR diet 7Y o YaIg ¥ dRAH §91Y R UHT S gidT 8l
C) <RAHTA, WM 3R URAN & F1E HYUMH & T R AR AT AT &R UM 1 AT Wy, WG 3R Ig giar gl hgHt
H og e fad oft glar € a1 3o W=y oft seeAdr &1 hEMIR o T TS ahT e fSideh RUT UeR) ehT 31T higil
Toh Igd Hgwaqul 3R AT 21t 81 55 TIE I a1 gt ST I8 Uil nT IRa-fasior e ik I dare forem o
BT 3Tch 3TaPTd U & 3id Gey R oft faaR fohar ST =nfgul o 9-8 urst &Y fohg fohg aRfQfa & o ufafehar gvh, s
oft IR &t udr g anfgul
d) HEFI HT 1T TR FHIA I 37 AgayUl aldl W &M 371 difgd-
i. M T g 5ig W AT g anfed
ii. g § Garg el gld 3R Ared JaT & YR WR 3 Sadl | 39fid thgk) & TaTg o1 JHTAR Sh3AT ST g
iil. SEF T ATeT FUIR 3 Y Uget IUehT & D T Igd ST 8
iv. AT & g Ueh U 1 fAh T, gt oI S1FY St 8, 3 §idT & 3Tferd Shgt chT Aled FUIR thid ah UTH T faaroT
AT TG d STE gidl g
V. U Afh HhgH! ol Tehdl 8, R 99 ATed TR foh a1d AT 8, at 83 Uk g a1 1A foh STewd gl g
10. F=fafaa d ¥ 2 usii & IR 40-50 great § S (3+2)
a) TR fasivzdr &1 31 g § o craaiie &u 3 ufifed 9 811 & Jracie 39 fawg # STHa R 3R 3gyd & SR R
SO T 1 3H EE dch AT s o 39 vy & ge= arelt ge-rsi a1 gEi <Y Tgsidl & AR hch UIGh! o g
A TE HR Ik |
b) BIIREMT AT U chl WITOHT F Uget 914 | g3 oY1 @Afch= o™ @9 F Sl S0 8 I9ehT 9 I Sl g1 STH-! ht
ST 81 39 a8 o BIUEM T HATASHR EeRT A feh aT ATI SMYFIch ehY Y31 81 U & ATfAshR T g3 A a8 F dh 3rF
% B U H 3 Sead Y g |
c) dues & &t i Ffafea &
i. Haregrarst quT RUIE g R urd forfed antift &t g S uegfa & aia g
ii. THTER-UF AT fQ, SMaR-Tfgar 9T ST <101 &' T & T
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d) SHTER T 3Tt gl (NEWS) IRt et et Hich fdeh 3l &1 370 SITH-UT o THIST U4 &R1-gHaT o ge-reli o fawg

7 @Ra Td 9dH ST RY, STt uerdTd fgd Ud I g, TR gl gl
11. F=fafaa usi # § fh=t <t & IR 50-60 sl & §fSa:

a) Ig Mier FMR A &g I HHR & T AR I o UGS oh AAIGLN T arfer ufdfAfde szar 81 avga: a8 e &
FHTAhT TTeTeh] oh AHRIR Al 1R 7 8| HRIhH S alet 310 a1 & g sraifest &t oft veefa Y ag e aad &1 3
IR hT UIST Jah & HAT 8| 31a: Ig Lfivier T Iugh 81

b) IR & TR T TT G ST AT T, Gog 1 T & HRUT F01 T Y AT Ig o S1G SR 1RT IRG I &1 ik i
gl et areft Wier &1 T Y uRfHes RO & Sirenter <Y ArfersT 0T ot AT ShTelt R WR AIeT hIR Sy I ot i
T g1 AT fthe el Tie W AT @fedr gt 7et &1 78 811 Yaiad & a1& SMTenT:T T Udlid 81 28T 8 SiY A1t s Sfdl J fhat
R garelt a1 wfafds e @ 8t

¢) wfdamactt # aftia Sl & ag F1d gid1 & foh Jeiiard ot 3o g7 # e enfYfen fawmarstt st wefl-+iifa 79 a1 IR
T TefF GHTST T Iofid Ud gurdtRes T fahar 8,51 ot off 9 udia glar g1 Siq forar & o 39 gwg & &
SRISTIRY G @FRI &1 TAEIT & R U1 ASTGR, fohaM, Az, Hrart snfe ot g@it &1 miel & RO &l Sroet 9 deh
P! ST & I TR &1 T} SR fAgsrar o1 arameRor i

12. Ao ust & 9 fh =8t & & IR 30-40 el & 93

a) &id wgd g & ag um U &) g a=g ¥t ST a1 g | I faaNT & SiUehR o 370+ RR 3R g8 W FAdd §U a8
3G YRR H 78T o1 18l g dlfch IGch [0 hT 13 T Ik ged H 7@ | 34 UhR & g &Y siarr-smmewr d
S ST =T 8|

b) IR foagpd ff Yrgardt T8t 81 I U WY WR fodgd wRIeT 81| 98 ot gl 6 foh # 3R 7% fhara aHl Adsz A
g1 I8 g AN g R A TR A AN | aHT weER eft €1 59feiq vg v 8 fobh IR 9rgare) =gl srfardt g1 g
&Y 31UeT I 31U v H R Ay g1

) &HUT S HfwSd g TR §FHM Totla S¢t o fgHTed Uad STId & I8 37 H faeid gl ot R Sfi aga [Rifdaag@tgld
I TG ggA TstiaA! ¢t o I G Udd Sich T ST1d & el HTH! hI0T 36 oh &l IR 1 h1 YaR 1 SITdl 8 AT A&HIT
Y et I g@ FRIRT AN & 79 H IH1g T HaR gidT 81

13. fFafafaa usi & 3 =Y F & IR 50-60 rsct & S

a) ¥k &Y 98 & T H Uargd gRT fohaT a1 A, adhe SR S8 S W SmeRd g1 vt & fS8ia A Sufki & arera
d v H el T 1 R F STl H Ol Uard A ST oTghT &l s a1d gl Gl 3R Ueh aRWhT thielT SehT STehT
fAarg STeRexd fSiald & Mo fiararst arct § &R e damad & e T 9 SIfvat &Y o g o oik faiy &Y &< faam

b) g 3 39 TR A deh vEferd Ryl oY Srufd gl 81 Ul & ek 1 & o &l § URdS A &1 31 afh 381
T &h T hl UA-3TU AR I Tl AT 8, IRg A 36 TeidadIdl & ITRHT & HIGH & Ut ol 9 T gl 81 o« Tt
o foFT Aaere thep T WhR &ifd & T &Y Sierfdyral & hRuT 3T T sifgeh A 78 gt uran ofik ITehT wifa & srariy giar
gl

¢) 3Tef IS | 9 dcdl § § Toh YTl 1 IWehT oiaeh = 3Tasf TATST # &t st affifera 8l fhar g, fohg ag 9 wm et
Y I R TGI8, I THIST chl T St a1 gy a1 & eten Rfifa gidt 81 aad A oeeh w1 sma sgaa g &
TATST § N Ueh GER S 1Y UTEaR 1 IAgR & | THTST § GHREAdT Td g-31Tdcd hl TG gt a2l @il o 7 § Yeh gEik
& Ul SIGT T T R UG 81| 3Tk STHIT H TGl THIST hi hed-T gl ahl SIT Gehall|

14. Fafafea usi & 9 fh=8Y 2 & IR 30-40 et & S

a) ISR &= SiHg R forar a1 U ardfer Fey g1 399 REaaR = 98, TR TR TTdt 9TST a1 ST fhat g1 regaet! &
FOD I TS o g Y MY 81 Afch T T 21eg HfE 751 8| UrSeh STl § 376 TgUT 3 AT &1 W Y e § I8 Tah
Yhel 3R TTaerTel! e &1 are Bi-sie & S Rdy ot arfdes dowofig a1 &1

b) UgdaH e o GE@-TH o 7 a9 YF §UY 519 I Tia g b ST H g0eh? 701 914 21 fohaT| 9T A I &aR |
TR IThT T fhaT| 3T IThT i XX dah Tt 15| WP I G AT 1 Fg-gfe e O Ie+ @ff anft
UgeTa| oht STHIA a1 &1 | 319 ag g2f+ia Sfia s mam1 Al § 9g & ahm g 3d-aad Uie! Ug-eh A% g1t ehl g Terdl
o

C) & HEM! YRA-Uh fATTSTH & g TEE o GIHI ok o faefud St & el il eeterdt e aififer st g1 el &t
T hT 3G HITA H UA-URTY, SI-TERT T T3 Tfeld URUTST R JaTd @s hT & | [aenfia gl oms g et smet
ot ATER 1 & 37TAT T T § 3R TN & IR TR IgT o1 AH AT chT hHTST il & | e H IfARRY 99 of ST
T SSITSTd &d §U SET ST STOHT I FdTdT ¢ | S R URATT heed AR Grilel &1 Tl T Rl 8, “BRI I STehT
"1 TP} ehT T TAT-IES Wit S7 geh! g 3R ASTgsl SR IR FTHA R Wi 718 @IV Ich 3{dH- doh el Ugd UTs 8l
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ATOMIC ENERGY CENTRAL SCHOOLNO No. 4, RAWATBHATA

Confidence Exam: 2020-21

Physical Education- XII
M. M:70 TIME: 3 hrs.

1. Questions 01-12 carry 1 marks each and are Multiple Choice Questions.
2. Questions 13-16 carry 2 marks each and shall not exceed 40-60 words.

3. Questions 17-26 carry 3 marks each and shall not exceed 80-100 words.
4. Questions 27-30 carry 5 marks each and shall not exceed 150-200 words.

Q.1.In a Knockout tournament, if the total no. of teams (n) participating is odd, then the formula for calculating

the no. of teams in upper half is
a.n+1/2 b.n-1/2 c.n-1 d.n+1
OR
The Speed Play training is also known as
a. Fartlek training b. Interval training c. Pace running d. Circuit training
Q.2. Defensive food consist of
a. Protein b. Carbohydrate c. Vitamins and Minerals d. All of these
Q.3. In ashtang yoga, there are elements.
1
a. Two b. Eight c. Ten d. Six
OR
Privilege to team/player to play in next roundis called
a. Seeding b. Fixture c. Bye d. Tournament
Q.4. Which of the following is not a disorder.
a. ODD b. Vision impairment c. SPD d. ADHD
Q.5. Abnormal curve of Spine at frontis called
a. Scoliosis b. Kyphosis c. Knock Knees d. Lordosis
Q.6. The duration of Harvard Step testis
a.9min b.5min ¢.3min d. 6 min
Q.7.Harvard Step test was developed in which year.
a. 1943 b. 1941 c. 1945 d. 1950
OR
Roughage is __food.
a. Macronutrient b. Micronutrient ¢. Non-Nutritive d. Nutritive

Q.8. Cardio respiratory system improves the
a. Heart Size b. Lung Volume c. New Capillaries d. All of these

Q.9. Adduction movement is .
a. Reduce angle of joint b. Increase angle of joint c. Away from body d. towards bodyline

Q.10.Who developed the Five factors Model of Personality.
a. Brouha b. Rosenman & Friedman c.Paul Costa & Rober Mac Crae d. None

Q.11.The science which deals with the functioning of body is called
a. Physiology b. Psychology c. Biomechanics d. Kinesiology
Q.12.Name of the psychologist, who categorized people on the basis of body structure
a. Watson b. Guilford c.William Sheldom d. None of these

1



ATOMIC ENERGY CENTRAL SCHOOLNO No. 4, RAWATBHATA
Confidence Exam: 2020-21

Physical Education- XII
M.M:70 TIME: 3 hrs.

1. Questions 13-16 carry 2 marks each and shall not exceed 40-60 words.
2. Questions 17-26 carry 3 marks each and shall not exceed 80-100 words.
3. Questions 27-30 carry 5 marks each and shall not exceed 150-200 words.

Q.13.Wirte the Contraindication of Bhujang Asana. 2
Q.14 .Discuss the symptoms of Autism. 2
Q.15.Write down all the test items of Motor Fitness test.. 2
Q.16.Explain the application of any two Newton’s laws in sports. 2
OR
Describe the harmful effects of Dieting
Q.17.What do mean by Planning? Explain the objectives of Planning. 3
Q.18. Write a short note Vitamins. 3
Q.19.Write the classification of Asanas. 3
OR
Explain the benefits of Asanas.
Q.20.Mention the benefits of Physical activities for Children with special needs. 3
Q.21.What are the reasons for less Participation of Indian women in Sports. 3
Q.22.Explain the Flexibility and Agility test items for Senior citizens. 3
Q.23.Differentiate between Sprain and Strain injury. 3
OR
Write the aims and objectives of First Aid.
Q.24.Explain with example about Flexion and Extension. 3
Q.25.Expain the causes of Aggression. 3
Q.26.What areIsotonic Exercises. 3
OR
What do you understand by Biomechanics.
Q.27.What is Motor Development? Explain its types and Factors affecting it. 5
Q.28.Draw a league fixture of 7 teams using Cyclic method. 5
OR
Explain the causes and types of Disorder.
Q.29.Define Strength. Explains its types and methods for improving strength. 5
OR

What is Balanced Diet? Describe the Nutritive components of diet.
Q.30.Explain the Physiological factors which determine the Speed and Strength. 5



